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The following table shows the number of newspapers printed as shown inside the brackets
and the number of newspapers distributed at different cities on a particular date. Answer

the gquestions 1to 5:

Citv-wise Distribution of Newspaper

\\N ewspaper | Newspaper | Newspaper | Newspaper | Newspaper
—> A B C D
Cit}-'¢ (2000) (2000) (1000) (1000)
Delhi 1000 750 320 250
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 350 135 160

Sub questions

Question Number : 1 Question Id : 5362283467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which city the distribution of paper 1= mimimum?
()  Jaipur (2) Lucknow

(3) Delhi (4) Varanasi

Options :

53622813501. 1
53622813502. 2
53622813503. 3
53622813504. 4

Question Number : 2 Question Id : 5362283468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the percentage of distributed newspapers compared to printed newspapers?

(1) 83.5% (2) 84.0%
(3) 82.0% (4) 82.5%
Options :

53622813505. 1
53622813506. 2
53622813507. 3
53622813508. 4

Question Number : 3 Question Id : 5362283469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the percentage of distmbution of newspaper C 1n all the cities as compared to total
number of newspapers distributed?

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622813509. 1
53622813510. 2
53622813511. 3
53622813512. 4

Question Number : 4 Question Id : 5362283470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of distribution of Newspaper A to newspaper B?

(1) 16:15 (2) 1:5
(3) 19: 15 (4) 17:15
Options :

53622813513. 1
53622813514. 2
53622813515.3
53622813516. 4

Question Number : 5 Question Id : 5362283471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What is the ratio of total distributed paper to total newspaper printed?

(1) 5:6 (2) 51:60
(3) 167 : 200 (4) bH2:61
Options :

53622813517. 1
53622813518.2
53622813519.3
53622813520. 4

Question Id : 5362283466 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362283467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 Tt § TEEW T S 9T =Aae T | faaiE 6o

1 (2) TET
(3)  faeedt (4) =WTH
Options :

53622813501. 1
53622813502. 2
53622813503. 3
53622813504. 4

Question Number : 2 Question Id : 5362283468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

What 1s the percentage of distributed newspapers compared to printed newspapers?
(1) 83.5% (2) 84.0%
(3) 82.0% (4) 82.5%

(1) 83.5% (2) 84.0%
(3) 82.0% (4) B82.0%
Options :

53622813505. 1
53622813506. 2
53622813507. 3
53622813508. 4



Question Number : 3 Question Id : 5362283469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

ot wrzat | faafa i 72 gammeE i ofet fi B gen i gen |1 e C = faata # o ot

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622813509. 1
53622813510. 2
53622813511. 3
53622813512. 4

Question Number : 4 Question Id : 5362283470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
FET

(1) 16:15 2y T:5
(3) 19:15 (4) 17:15
Options :

53622813513. 1
53622813514.2
53622813515.3
53622813516. 4

Question Number : 5 Question Id : 5362283471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

e

7

(1) H:6 (2) 51:60
(3) 167 : 200 (4) bH2:61
Options :

53622813517. 1
53622813518. 2
53622813519. 3
53622813520. 4

Sub-Section Number : 2
Sub-Section Id : 536228138



Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362283472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If teaching 1s viewed as a continuum. which of the following moedality, involves active ‘give’
and ‘take between the teacher and learner?

(1) Training (2) Conditioning
(3) Instruction (4) Indoectrination
Options :

53622813521. 1
53622813522.2
53622813523.3
53622813524. 4

Question Number : 6 Question Id : 5362283472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B 14 M e e 2 11 = e o | A

(1)  wferem (2) HTFeH

(3)  FF (4) TETOW
Options :

53622813521. 1
53622813522.2
53622813523.3
53622813524. 4

Question Number : 7 Question Id : 5362283473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct sequence from lower to higher, for indicating learning outcomes related

to affective domain?

(A) Recelving

(B) Valuing

(C) Responding
(D) Organization

(E) Characterization

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D) and (E) (Z2) (A), (C). (B). (D) and (E)
(3) (C). (D). (E). (A) and (B) (4) (B). (C), (A). (D) and (E)
Options :

53622813525. 1
53622813526. 2
53622813527. 3
53622813528. 4

Question Number : 7 Question Id : 5362283473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A). B). (C). (D) = (E) (2)  (A). (C). (B). (D) =1 (E)
(3)  (C). (D). (E). (A) % (B) (4)  (B). (C), (A), (D) #f (E)
Options :

53622813525. 1
53622813526. 2
53622813527. 3
53622813528. 4

Question Number : 8 Question Id : 5362283474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Ability of an individual or group implies the components of knowledge. skill

and experience.

Statement IT : Willingness of an individual or group implies the components of confidence,

commitment and motivation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement I1 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct
Options :

53622813529. 1
53622813530. 2
53622813531.3
53622813532. 4

Question Number : 8 Question Id : 5362283474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622813529. 1
53622813530.2
53622813531.3
53622813532. 4

Question Number : 9 Question Id : 5362283475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT : List I provides the basic management functions to be performed by
a teacher while the List II gives their description.

List I List IT
(A) Planning (Il It involves feedback of results and
follow up to compare
accomplishments.
(B) Organizing (II) It 1involves engagement In task

relevant activities.

(C) Motivating (III) It involves bringing together resources
and people.
(D) Controlling (IV) It involves setting goals and objectives.

Choose the correct answer from the options given below :

(1) (A)-IV), (B)-(III). (C)-(ID), (D)-(I)
(2) (A)-(D). (B)-(IL), (C)-(11I). (D)-(IV)
(3)  (A)-D), (B)-(D). (C)-(IV). (D)-(I1I)
(4) (A)-(ITII), (B)-(IV). (C)-(I). (D)-(II)

Options :

53622813533. 1
53622813534.2
53622813535. 3
53622813536. 4

Question Number : 9 Question Id : 5362283475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(IV), (B)-(III). (C)-(IT), (D)-(I)
(2) (A)-(D). (B)-(IL). (C)-(I1II). (D)-(IV)
(3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(IIT)

(4) (A)-(II1), (B)-(IV). (C)-(I). (D)-(IT)
Options :
53622813533. 1
53622813534.2
53622813535. 3
53622813536. 4

Question Number : 10 Question Id : 5362283476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion (A) and the other 1= labelled as

Reason (R) :

Assertion (A) :  The use of ICT has a great potential for optimising learning outcomes.

Reason (R) : ICT promotes scope for variety. flexibility and attractiveness.

In the light of the above statements. choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 18 true but (R) 1s false

(A) 1s false but (R) 1s true

53622813537. 1
53622813538. 2
53622813539. 3
53622813540. 4

Question Number : 10 Question Id : 5362283476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813537. 1
53622813538. 2
53622813539.3
53622813540. 4

Question Number : 11 Question Id : 5362283477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling procedures from the following :

(A) Simple random sampling
(B) Quota sampling

(C) Cluster sampling

(D) Snowball sampling

(E) Dimensional sampling

Choose the correct answer from the options given below :
(1) {A). (B) and (C) only {(2) (B). (C) and (D) only
(3) (B). (D) and (E) only {4y (C). (D) and (E) only

Options :



53622813541. 1
53622813542.2
53622813543.3
53622813544. 4

Question Number : 11 Question Id : 5362283477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THATATET 5§ SAEEeEAT O S T2 e WA 6 e i
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() = (A), (B) = (C) (2) === (B). (C) 3 (D)

(3)  #a (B). (D) #i (E) @) 3 (O). (D) 3K (E)
Options :

53622813541. 1
53622813542. 2
53622813543. 3
53622813544. 4

Question Number : 12 Question Id : 5362283478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A college principal conducts an ethnographic probe into the problems faced by tribal
students. Which method of sampling will be most appropriate?

(1) Random samplng (2) Stratified sampling
(3) Cluster sampling (4) Systematic sampling
Options :

53622813545. 1
53622813546. 2
53622813547. 3
53622813548. 4



Question Number : 12 Question Id : 5362283478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813545. 1
53622813546.2
53622813547.3
53622813548. 4

Question Number : 13 Question Id : 5362283479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Fundamental research 1s directed at exploring the applicability of truths and

principles already established.

Statement IT : Action research aims at ameliorating the ongoing conditions and practices.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I 1s correct but Statement I 1s incorrect
(4) Statement I is incorrect but Statement IT 18 correct
Options :

53622813549. 1
53622813550. 2
53622813551. 3
53622813552. 4

Question Number : 13 Question Id : 5362283479 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622813549. 1
53622813550. 2
53622813551. 3
53622813552. 4

Question Number : 14 Question Id : 5362283480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion (A) and the other 1= labelled as
Reason (R) :

Assertion (A) : Research ethics and itz observance 1s necessary in the interest of
credibility and quality of research.

Reason (R) : The policy making bodies have to be accountable for pursuing research
with an eve on promoting excellence.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options :
53622813553. 1
53622813554. 2

53622813555. 3
53622813556. 4

Question Number : 14 Question Id : 5362283480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813553. 1
53622813554. 2
53622813555.3
53622813556. 4



Question Number : 15 Question Id : 5362283481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher intends to find out the differences in motivational outlook of first degree level
students in terms of their belongingness to rural/urban areas and the educational status of
parents. What will be the dependent variable in this study?

(1) Belongingness to rural/urban areas (2) First degree level

(3) Educational status of parents (4) Motivational outlook
Options :
53622813557. 1
53622813558.2
53622813559.3
53622813560. 4

Question Number : 15 Question Id : 5362283481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813557. 1
53622813558.2
53622813559. 3
53622813560. 4

Question Number : 16 Question Id : 5362283482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Distance in Inter-personal communication 1s indicative of one's

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622813561. 1
53622813562. 2
53622813563. 3
53622813564. 4

Question Number : 16 Question Id : 5362283482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communieation is indicative of one's

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-hke approach
Options :

53622813561. 1
53622813562. 2
53622813563. 3
53622813564. 4

Question Number : 17 Question Id : 5362283483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Identify the correct sequence of the following elements in the latter part of the

communication process after decoding :

(A) Environment
(B)  Feedback

(C) Context

(D) Interference

Choose the correct answer from the options given below :

(1) (A (B). (C). (D) (2) (B). (C). (D). (A)
(3 (€ (D). (A, B) (4) (B). (A (C). (D)
Options :

53622813565. 1
53622813566. 2
53622813567. 3
53622813568. 4

Question Number : 17 Question Id : 5362283483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A, (B). (C). (D) (2) (B). (C). (D). (A)

(3) (). (D). (A). (B) (4) (B). (A). (C). (D)
Options :

53622813565. 1
53622813566. 2
53622813567. 3
53622813568. 4

Question Number : 18 Question Id : 5362283484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with List IT :

List I List IT
(Type of media) (Example)
(A) Synchronous media (I)  Apphication of multi-media
(B) Asynchronous media (II) Interactive multi-media
(C) Rich media (III} E-maal
(D) Hyper media (IV) Telephone

Choose the correct answer from the options given below :

(1 (A)-D). (B)-(D), (C)-(III). (D)-IAV)
(2)  (A-IV), (B)(III). (C)-(IL). (D)-(I)
(3)  (A)-ID). (B)-IV). (C)-(I). (D)-(I1I)
(4 (A)-(ITT). (B)-(D). (C)-(IV). (D)-(II)

Options :

53622813569. 1
53622813570. 2
53622813571.3
53622813572. 4

Question Number : 18 Question Id : 5362283484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(6Y) (A)-(D. (B)-(ID), (C)-(I1D). (D)-(IV)
(2) (A)-(IV), (B)-(I1I). (C)-(II), (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(D). (D)~(ILI)

(4)  (A)-(IID. (B)-(D). (C)-(IV). (D)-(II)
Options :
53622813569. 1
53622813570. 2
53622813571. 3
53622813572. 4

Question Number : 19 Question Id : 5362283485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 12 labelled as Assertion (A) and the other 1s labelled as

Beason (R) :

Assertion (4):  Effective communicators align appearance with body language and tone.

Reason (R) : Such an alignment forms part of the art of persuasion.

In the hight of the above statements, choose most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct
Options :
53622813573. 1
53622813574. 2
53622813575. 3
53622813576. 4

Question Number : 19 Question Id : 5362283485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622813573. 1
53622813574. 2
53622813575.3
53622813576. 4

Question Number : 20 Question Id : 5362283486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are contributive to positive influence on teacher-student
communication?

(A) Making assumptions

(B) Limited interaction

(C) Fostering a sense of belongingness
(D)  Acknowledging participation

(E) Persuative attitude

Choose the most appropriate answer from the options given below :

(1) (A (B). (C) only (2) (B), (C). (D) only
(3)  (O). (D). (E) only (4) (A). (D). (E) only
Options :

53622813577. 1



53622813578. 2
53622813579.3
53622813580. 4

Question Number : 20 Question Id : 5362283486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SEATTF - [T Ty & HeY § HeenEd § 9 -5 TS T9E ° aEE o B 7
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(1)  Fa= (A), (B). (C) (2) Fa (B), (C). (D)

(3) e (C), (D), () (4) Fa9 (A). (D). (E)
Options :

53622813577. 1
53622813578. 2
53622813579. 3
53622813580. 4

Question Number : 21 Question Id : 5362283487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A pipe normally fills a tank in 12 hours. but, due to a leak. 1t takes 8 hours more. If the tank

1s full, how many hours will the leak take to empty 1t?

(1) 12 (2) 22
(3) 30 (4) 33
Options :

53622813581. 1
53622813582.2
53622813583. 3
53622813584. 4

Question Number : 21 Question Id : 5362283487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

U UTEY U 9 1 SAEAR 9T 12 €2 H 9T 340 2 | W Torehe il 99 @ 36 9 0 8 52 i o 7

Al I w1 5T A1 fohs 1 9w W @ B2E 5 R wey e

(1) 12 (2) 22
(3) 30 (4) 33
Options :

53622813581. 1
53622813582. 2
53622813583.3
53622813584. 4

Question Number : 22 Question Id : 5362283488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1= the remainder when 64 divides 16717

(1) 4 (2) b
(3) 6 4) 7
Options :

53622813585. 1
53622813586. 2
53622813587.3
53622813588. 4

Question Number : 22 Question Id : 5362283488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
1671 1 64 = Fawiisa 24 70 fopaa 9 w=m ¢

(1 4 2 5
(3) 6 4 7
Options :

53622813585. 1
53622813586. 2
53622813587. 3
53622813588. 4

Question Number : 23 Question Id : 5362283489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: Two triangles are said to be congruent if their corresponding angles are

equal and corresponding sides are proportional.

Statement IT: Two triangles are said to be similar if their corresponding angles and

corresponding sides are equal.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
Options :
53622813589. 1
53622813590. 2
53622813591. 3
53622813592. 4

Question Number : 23 Question Id : 5362283489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 31 e fam e E

#o (I): 21 s waimes Fee & 3ig 39 0 0§97 7 SR 56 90 SEEE A |

Fo (ID) : 21 Bl =1 59T e W61 2 302 399 G H00 ST =5 90 HEE A |

IF FUA H ATAH J ARG fawed 3 F w8 3 A
(1) == I3 I 3H 56 7 |

(2)  FoE IR =M 7=E 2 |

(3) =¥ [=ea = T %o IL7TeAd 2 |

4) w1 3Ee 2 g w I oe 2

Options :

53622813589. 1
53622813590. 2
53622813591. 3
53622813592. 4



Question Number : 24 Question Id : 5362283490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the series :

7. 8. 18, 57, 228, 1165, 6996

(1) 1165 (2) 228
(3) o7 (4) 18
Options :

53622813593. 1
53622813594. 2
53622813595. 3
53622813596. 4

Question Number : 24 Question Id : 5362283490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fTeritas Tea-%9 § o 7o Tl R T S

7. 8. 18. b7. 228, 1165, 6996

(1) 1165 (2) 228
(3) 57 (4) 18
Options :

53622813593. 1
53622813594. 2
53622813595.3
53622813596. 4

Question Number : 25 Question Id : 5362283491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: When we perform an experiment, then the set S of all possible outcomes 1s

called the sample space.
Statement II : Any superset of a sample space 1s called an event.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 1= correct but Statement IT 1= false
(4) Statement I is incorrect but Statement IT 1s true
Options :
53622813597. 1
53622813598.2

53622813599. 3
53622813600. 4

Question Number : 25 Question Id : 5362283491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= g1 FeE ffm o

FoA (I): =9 79 F7F TA0 A £ A T 69E TR0TH # 90eed S Wiae TiE wEend # |
Fo (D) : 1] wfaest =59 =1 %15 Afgag==a" ‘39 Feodl 2 |

IUEF FUAT F FAE § e e 3 1w 3w A

(1)  Fm [ =M 56 7 |

@  FuE 3R I EE T B

(8) A 1= = g % I1ea 2 |

4  wyE I #E 2 g w5y ILE8 2
Options :
53622813597. 1
53622813598. 2
53622813599. 3
53622813600. 4

Question Number : 26 Question Id : 5362283492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

In terms of the relationship indicated below, which word will correctly pair to replace the
question mark?

[
v

Frown : Pain :: Smile : 2
(1) Joy (2) Sorrow

(3) Failure (4) Discomfiture
Options :

53622813601. 1
53622813602. 2
53622813603. 3
53622813604. 4

Question Number : 26 Question Id : 5362283492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
= ZoNe T gy % SFTEE, FA-G1 952 99 e T 9 gHfe w5

W
[l

=TT 'Clrl.;'—:, v HERI

.

(1) g0 (2) =™
(3)  T=TF (4) =T
Options :

53622813601. 1
53622813602. 2
53622813603. 3
53622813604. 4

Question Number : 27 Question Id : 5362283493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1= labelled as
Reason (R) :

Assertion (A) : Since the perception of hardness 1s not necessarily connected with its
colour, 1t can be said that all the perceptions seen conjoined but never
connected.

Reason (R) : Causal relationship 1s always contingent and probable because it 1=

derived from experience.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true



Options

53622813605. 1
53622813606. 2
53622813607. 3
53622813608. 4

Question Number : 27 Question Id : 5362283493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= =7 F9F 230 0 E TEE O v F AgEeT (A) #6358 F 99 (R) FE 7

AT (A) - ~JT =HSTAT 1 WY IEH U1 W AETAF T W Ge(9d A 7 SHCC TR HED A AT B

7% (R)

2

ST FAA F A H R e 3§ el 39 9

(1)

(2)

(3)

@
Options :
53622813
53622813

53622813
53622813

Question

(A) 377 (R) TH1 T71 & 311 (R). (A) 1 21 =97z 7 |
(A) 31 (R) 21 @& & W (R), (A) T H# =amen 74 7 |
(A) @# 2 T (R) #8112 |

(A) T# 75 7 T (R) T8 71

605. 1
606. 2
607.3
608. 4

Number : 28 Question Id : 5362283494 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given b

elow are two propositions :

All philosophers are fallible.

Hegel 1s not fallible.

In the classical square of opposition, which one of the following is the correct option for this?

(1) Contrary (2) Sub contrary

(3) Contradictory (4) Subaltern

Options :

53622813609. 1



53622813610. 2
53622813611.3
53622813612. 4

Question Number : 28 Question Id : 5362283494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tl ZEHE 2EE |
=0TET EEE 6 E

T o TRl J7 ° SHE (o (eTeiad § H R ey HE R

(1) faufad= (2) I9-Taoirad=
(3) = (4) =ToE (FEET)

Options :

53622813609. 1
53622813610. 2
53622813611. 3
53622813612. 4

Question Number : 29 Question Id : 5362283495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Given below are two propositions :
Some animals are fierce.
Some animals are not fierce.

In the clas=sical square of opposition which one of the following is the correct option?

(1) Subaltern (2) Contradictory
(3) Contrary (4) Sub-contrary
Options :

53622813613. 1
53622813614. 2
53622813615. 3
53622813616. 4

Question Number : 29 Question Id : 5362283495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FF T GEE 95 7 # |

ferrg & Fonfht 91 ° 36F fov fefatad 8 3 w+E-0 faweT me 2 e

(1) = (FEeee) (2) =mEE
(3)  faufmmm= (4)  FT—Tarard
Options :

53622813613. 1
53622813614.2
53622813615.3
53622813616. 4

Question Number : 30 Question Id : 5362283496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I Last II
(Concept) (Philosopher)
(A) Causality is apriori {I) Anstotle
(B) Causality 1s synthetic (II) Hegel
(C) Causality 1z dialectical (IIT) Hume
(D) Causality 1z maternal (IVy Kant

Choose the correct answer from the options given below :

(1) (A)-ID). (B)-(D). (C)-(IV). (D)-(III)
(2)  (A)-IV), (B)-III). (C)-(ID). (D)-(I)
(3)  (A)-D, (B)-(AV), (C)-(I1I), (D)-(II)
4  (A)-dID. (B)-D. (C)-(II). (D)-(IV)

Options :

53622813617. 1
53622813618. 2
53622813619.3
53622813620. 4

Question Number : 30 Question Id : 5362283496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T-1 1 g=-I1 F gafed i -

-1 T1-11
(ruTm) GEUEED
(A) TFHEIE TFEEEF 7 | I =74
(B) FHORI FTTITHF 7 | D #rre
(C) FEOET ZZcdF 2 (III) =™
(D) AU a7 | AV) =
Hr f2u o Tl 0 W HE IR R T

(1) (A)-(II). (B)-(I), (C)-(IV). (D)-(I11I)
(2)  (A)-IV), (B)-IID), (C)-(II). (D)-(T)
(3)  (A)-(D. (B)-(IV), (C)-(TII). (D)-(IT)
(4) (A)-(IID). (B)-(D). (C)-(ID). (D)-(IV)

Options :

53622813617. 1
53622813618. 2
53622813619. 3
53622813620. 4

Question Number : 31 Question Id : 5362283497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CDMA stands for

(1) Code Division Multiplexed Acceas
(2) Code Division Multiple Access

(3) Code Division Mobile Access

(4) Code Division Mobile Adapter

Options :

53622813621. 1
53622813622.2
53622813623. 3
53622813624. 4

Question Number : 31 Question Id : 5362283497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Higone (CDMA) F1 a1/e0d 7

(1) s T4 aedieises T9Eg
(2) WS Ted=T Aeee UgEE
(3) == fedsT gEEa e
(4) s TedeT aEEs T

Options :

53622813621. 1

53622813622. 2

53622813623. 3
53622813624. 4

Question Number : 32 Question Id : 5362283498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In display technology. CRT stands for

(1) Cathode Ray Transmission

(2) Computer Ray Transmission
(3) Cathode Ray Tube

(4) Cathode Ray Transducer

Options :

53622813625. 1
53622813626. 2
53622813627. 3
53622813628. 4

Question Number : 32 Question Id : 5362283498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s e S D = = M= e 0 B e

(1)  Fur=z 1 gEmEee @) Foge T it
(3) Fuzizgm (4) F9Is 1 THSTH
Options :

53622813625. 1
53622813626. 2
53622813627. 3
53622813628. 4

Question Number : 33 Question Id : 5362283499 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  External hard disk 1s a primary memory.
Statement II : In general. pen drives have more storage capacity than external hard disks.

In the hght of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement Il are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
Options :

53622813629. 1

53622813630. 2

53622813631. 3

53622813632. 4

Question Number : 33 Question Id : 5362283499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wo (D) : =T 7S TS5 U WS HAT 7 |

wo (ID) : HE=a: U 159 il TZHA SEar e 7S f5e 1t a2 )

YA FUAT % AT § AR Gedl § W @R I o
(1) #9917 I 2 T8 7 |

(2) A I3 I 2H o 2 |

(3 wE 1T g T 17 2

(4) F9 1 53 7 fhg w97 154 2 |
Options :
53622813629. 1
53622813630. 2
53622813631. 3
53622813632. 4



Question Number : 34 Question Id : 5362283500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT : List IT contains examples of the items Listed in List 1.

Last I List II
(A) Web 2.0 Applications (). ' Windows 8. 1-08
(B) Search Engines (IT)y C++. Java
(C) BSystem Softwares (III) Blogs. Twitter
(D) High level languages (IV) Google. Yahoo

Choose the correct answer from the options given below :

1) (A)-AQV), B)-III). (C)-@). (D)-aD)
(2)  (A)(IID, (B)-(IV). (C)-(I). (D)-(II)
(3)  (A)-(D. (B)-(IID), (C)-(IV), (D)-(ID)

(4) (A)-(IV), (B)(I), (C)-(III), (D)-(II)

Options :

53622813633. 1
53622813634. 2
53622813635.3
53622813636. 4

Question Number : 34 Question Id : 5362283500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=1-1 %t g=-11 ¥ gt Fifse

71 TI1
(72) (FeTeT)
(A) = 2.0 TAHTH @ To=i 8, -2 vm
B) == T (D) C++, =
(C) Towes oieam (L) ==, feaen

F= 27 ™ fawew § O wE I gi

(1) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(2 (A-ID. (B)-@V). (O)-). (D)-ID)
(3)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(II)

(4) (A)-(IV). (B)-(I). (C)-(III), (D)-(II)
Options :
53622813633. 1
53622813634.2
53622813635. 3
53622813636. 4

Question Number : 35 Question Id : 5362283501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true?
{A) An algorithm may produce no output
(B) An algorithm expressed in a programming language 1s called a computer program.
(C) An algorithm is expressed 1in a graphical form known as flowchart
(D)  An algorithm can have infinite sequence of instructions.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A). (B) and (D) only
(3) (C) and (D) only (4) (B) and (C) only
Options :

53622813637. 1
53622813638. 2
53622813639. 3
53622813640. 4



Question Number : 35 Question Id : 5362283501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FAfetliga 5 @ A O 599 g3 2 7

(A) U USANEH FE AT TR 3 HHAT 7 |

(B)  TTET s ¥ SIqeahd TS g T FE A F
(C) W% % B9 H A9=Thd TSR F FA G2 HE S 7

(D) U ToEA | SS90 1 A FH A G # |

(el @ F (A). (B) 3R (D)
(3  F (C) 3 (D) (4) Fa= (B) 30 (C)
Options :

53622813637. 1
53622813638. 2
53622813639. 3
53622813640. 4

Question Number : 36 Question Id : 5362283502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Exposure to excessive noise pollution can cause
(A) Hearing impairment
(B) Insomnia
(C) Rise in blood pressure
(D) Respiratory disease
(E) Reduced work efficiency

Choose the most appropriate answer from the options given below :

(1) (A).(C). (E) only (2) (A, (C). (D) only
(3) (B). (C) and (E) only (4) (A). (B), (C) and (E) only
Options :

53622813641. 1
53622813642. 2
53622813643.3
53622813644. 4

Question Number : 36 Question Id : 5362283502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT S TZ9Y § Adfongd § FH H F0 2 HEd £ 7
(A)  H=v EN

(B)  #AFg

(C) TEa=m o Afg

(D)  vIET HFH T

(E)  FrE&mar &5 & FE

Hr 51 ™ faeat 4 9 w91 3 g

(1)  Fad (A). (C) A1 (E) (2) Fa= (A). (C) 77 (D)

(3)  Fa (B). (C) 31 (E) (4) FF9 (A). (B). (C) =T (E)
Options :

53622813641. 1
53622813642. 2
53622813643. 3
53622813644. 4

Question Number : 37 Question Id : 5362283503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
In Photo Voltaic system (PV-system) arrange the following from smallest to the largest unit
(A) Module
(B) Array
(C) Solar cell
(D) Array field

Choose the correct answer from the options given below :

(1)  (B). (D). (A). (C) 2) (B). (D). (0. A
(3  (C).(B). (D). A) (4) (C).(A), B). D)
Options :

53622813645. 1
53622813646.2
53622813647. 3
53622813648. 4

Question Number : 37 Question Id : 5362283503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



[ © [

TR - TereEe Wl (1 Hi-Taeee) |, gy w1 o9H o § O9d "9 5HE %0 0 s

(A) T

B

(C) =rE=

D) &=

Jr= fzu o ot 4 @ wE =W 9

(1) (B). D). (A). (C) 2)  (B). D). (C). (&)

(3  (0), (B). (D). (A) @ (0. (&), B). D)
Options :

53622813645. 1
53622813646. 2
53622813647. 3
53622813648. 4

Question Number : 38 Question Id : 5362283504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of particulate matter pollutants are used in calculation of Air
Quality Index (AQI)?

(A) TSP (Total Suspended Particles)

(B) PM 10 (Particulate matters of size 10 micron or less)
(C) PM 2.5 (Particulate matter of size 2.5 micron or less)
(D) PM 1 (Particulate matter of size 1 micron or less)

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A)and (B) only
(3) (B) and (C) only {(4) (A), (B) and (C) only
Options :

53622813649. 1
53622813650. 2
53622813651. 3
53622813652. 4

Question Number : 38 Question Id : 5362283504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



a1 T g (0 @) e § et § 9 w6 8 v F e e (wiiges 8) g
= TFT AT AR Y

Q)  FmE (T s gaEE)

(B) i vH 10 (10 HSEF I 5EH FH AR H GETHT )

(C) i vm 2.5 (2.5 AIEHA I THE FH ATEE & FEHF)

(D) W uA 1 (1 9EEE T SEE AT § R

Hr= 21 = fawewl 9 9 =51 I 96

(1) === (B). (C) 57 (D) (2) =as (A) 3T (B)

(3)  Fad (B) 31 (C) (4) F=9 (A). (B) 37 (C)
Options :

53622813649. 1
53622813650. 2
53622813651. 3
53622813652. 4

Question Number : 39 Question Id : 5362283505 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I List IT
(International Agreements) (Provisions)
{A) Montreal Protocol (I} Clean affordable energy
(B) Kyoto Protocol (II) Controlling consumption and

production of Halons
(C) Convention on Biodiversity (IIT) Emissions trading

(D) International Solar Alliance (IV) Clearing House Mechanism

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(ID). (C)-(IID). (D)-(I)
(2) (A)-(ID). (B)-(D). (C)-(I1I). (D)-(IV)
(3) (A)-(II). (B)-(I}, (C)-(IV). (D)-(IIL)

(4) (A)-(II). (B)-(IID). (C)-(IV), (D)-(I)

Options :
53622813653. 1



53622813654. 2
53622813655.3
53622813656. 4

Question Number : 39 Question Id : 5362283505 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TA1-1 F1 -1 5 gafem Hifm

T
(ATET HHETET)

(A) FifEE FRTH

(B) T Wi

(D) FZATET TR A

H= fo e B A I =R
(1) (A)-(IV), (B)-(II). (C)-(IID). (D)-(I)
(2) (A)-(ID). (B)-(I). (C)-(IIL). (D)-(IV)

(3)  (A)-D. B)-A). (C)-AIV). (D)-AII)

AN FAN AT (R ATTT 600 TR T T
Options :
53622813653. 1
53622813654. 2
53622813655. 3
53622813656. 4

T=t-11

(ST )

@ == T =

(II) == 1 TUA ST I F FEEE
(IID) 3= =mn

m‘r} E (A pi":ir].{. i --.]EH q"‘} I'-'_‘| Frl

Question Number : 40 Question Id : 5362283506 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT :

List I ListIT
(Toxic and Hazardous substances) (Major sources)
(A) Vinyl chloride (I ' Electric Insulations
(B) Polvchlorinated biphenyls (PCBs) (IT) Fuel combustion
(C) Benzo(a)pyrene (IIT)} Plastics Industrial uses
(D) Polyeyelic Aromatic Hydrocarbons (IV) Waste Incineration

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(III). (C)-(IV). (D)-(II)
2)  (A-D. (B)-(IID). (C)-(I). (D)-IV)
(3)  (A)-D. (B)-(IV). (C)-(ID), (D)-(I)

(4 (A)-(IID). (B)-(D). (C)-(IV). (D)-(II)
Options :

53622813657. 1

53622813658. 2

53622813659. 3

53622813660. 4

Question Number : 40 Question Id : 5362283506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 %1 g-I1 T Fafed e

-1 111
(Ferarr it AT ) (=7 =)
(A) e F=Es I sfFs e
B) THAFATHIS AEFAEEE (U1 H ) D) zoA =
(C) == (u) uEH (AID) wife o i S9am
D) TreETETEE T e (IV) Fmfe s
Fr= f2u o famedi A | ORI 9EE W

(1) (A)-(I). (B)-(ILL), (C)-(IV), (D)-(II)
(2) (A)-(I). (B)-(I1I). (C)-(II). (D)-(IV)
(3) (A)-(IID). (B)-(IV). (C)-(1I). (D)-(I)

@  (A-ID. (B)-(D. (C)-IV), (D)-{II)
Options :
53622813657. 1
53622813658. 2
53622813659. 3
53622813660. 4

Question Number : 41 Question Id : 5362283507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year, All India Counecil for Technical Education was set up as a statutory body by
an Act of Parhament?

(1) 1986 (2) 1987
(3) 1988 (4 1989
Options :

53622813661. 1
53622813662. 2
53622813663. 3
53622813664. 4

Question Number : 41 Question Id : 5362283507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ffefad 7 = 5 79 7 792 F ATaf=T gu U AfEtas [ F w1 A AhEe 9RdE awAn wre

afteg &1 T =i e i ?

(1) 1986 (2) 1987
(3) 1988 (4y 1989
Options :

53622813661. 1
53622813662. 2
53622813663. 3
53622813664. 4

Question Number : 42 Question Id : 5362283508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of an effective team in an institution of higher learning?

(A) The atmosphere tends to be informal in which members of team are involved.
(B) There 1s a lot of discussion in which everyone participates.

(C) The task of the group 1s well understood and accepted by the group members.
(D) The members of the group are not afraid of putting forth their ideas.

(E) The members of the group avoid disagreement and conflict among themselves.

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D) only (2) (B). (C). (D), (E) only
(3)  (C). (D). (E). (A) only (4) (E). (A). (B). (C) only
Options :

53622813665. 1
53622813666. 2
53622813667. 3
53622813668. 4

Question Number : 42 Question Id : 5362283508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=5 wtam % PRl T § v e 2w A F e A 2
(A) TR SR B 7, TR S wee A vriEn 2 2

(C)  =HE & T F A=l o7 GH T4 & N BE & T2l HHEE w2 E
(D) T9E = T {9 fEERl W = ° A5 5 F

(E) ¥9E % Hat 3O did HAHg 3 Hyd w2 |

4= T2 ™ et ° | wE I e
(1) %= (A), (B). (C), (D) (2) #== (B). (C). (D). (E)
(3) =4 (O). (D). (E). (A) (4) Fa= (E). (A). (B). (C)

Options :

53622813665. 1
53622813666. 2
53622813667. 3
53622813668. 4

Question Number : 43 Question Id : 5362283509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Helping individuals and social groups acquire social values. contributes to development of :
(1) Environmental awareness (2) Environmental knowledge

(3) Environmental attitude (4) Enwvironmental skills

Options :

53622813669. 1
53622813670. 2
53622813671.3
53622813672. 4

Question Number : 43 Question Id : 5362283509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T AF qoa] i TaW FH § AfFadl ST AT aE YA $ FEEal HEE a6

{1) qqr"zll.uhl g AP E=hd {2} THE0E T T 4

(3) T AT (4) TRV A



Options :

53622813669. 1
53622813670. 2
53622813671.3
53622813672. 4

Question Number : 44 Question Id : 5362283510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The principal responsibilities of Academic Council in a University include

(A) Maintenance of quality and standards of academic programmes

(B) Planning. coordination. development. oversight and review of academic programmes
of University

(C) Laying down the essential qualifications for recruitment of faculty in various
disciplines.

(D) Framing and revising/updating the contents of courses of various academic
programmes.

(E) Approval of fee structure for various academic programmes

Choose the correct answer from the options given below :

(1) (A). and (B) only (2) (A), (B). (D) and (E) only
(3) (A). (B). (C) and (D) only (4y (A). (B), (C) and (E) only
Options :

53622813673. 1
53622813674.2
53622813675.3
53622813676. 4

Question Number : 44 Question Id : 5362283510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



F1' :Fr:‘ﬁﬁ 1"3-."'3fa:-£] 1 fT 'H1" z| | ‘TET'SIE\_F T:l:@*‘:{ 3G 1’-’4 [z | 'h';ffﬁ'ﬁﬁﬁ IT 'H _-FFT H ﬁ'r

(B) Tavafzaem + A FEEa 1 Fren 53, g9, fTEm, e @ 9w gwfiean wo

(C)  Tafu= faw=l d germa—masi i w4 % foru sy s@ars =i fuifa e |

(D) Tafa= Deiors wewa F TEaEal i GeEel B J9F w1 AT GInE ) e e |

(E) Tatg= s =E=wa & o 8 F 29 =i =iF |

Fr T T faepent 8 @ A I 9

()  # (A), (B). (C) 3 (D) (4) Fa= (A). (B), (C) 3T (E)

Options :

53622813673. 1
53622813674. 2
53622813675.3
53622813676. 4

Question Number : 45 Question Id : 5362283511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last II : List — I and List — II consist of types of procedures used for
continuous appraisal of teaching and non-teaching staff in higher education and
characteristics of these appraisal respectively :

List I List IT
(Tvpes of Appraisal) (Characteristics)

(A) Developmental (I) Concerned with doing and achieving

(B) Managerial (II) Concerned with moral, ethical and
professional values

(C) Laissez-faire (ITI) Concerned with maintenance of social
control

(D) Judgemental (IV) Concerned with the importance of

gelf-development.

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IV). (C)-(II), (D)-(I)
(2)  (A)-ID. (B)-(D), (C)-(IV). (D)-(IIT)
(3) (A)-(D. (B)-(III). (C)-(II). (D)-(IV)
4 A-1V), B)-ID). (C)-a1D), D)D)

Options :

53622813677. 1
53622813678. 2
53622813679. 3
53622813680. 4

Question Number : 45 Question Id : 5362283511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T-1 F g1 @ g Fitaw o g=0 o g0 9w I=e e | faam va e w6

TH1-1 T=1-11
(qeaTFT = T (feraream )
(A) TaFmEEEE (@ = FH AN I e g "Heia
(B) TETTHS @) Hfa®, ffa-Fifrm 1 ==9wE g o
Hetem
(C) e AI) = e TEH § et
(D) T (IV) =ea-foF & T @ Jeiaa

I fzu v fomhemt 9 & wE 39 9T

(1) (A)-(IID). (B)-(IV). (C)-(IL), (D)-(I)
(2) (A)-(ID). (B)-@D). (C)-(IV). (D)-(I1I)
(3) (A)-(D). (B)-(I1I), (C)-(I). (D)-(IV)
(4) (A)-(IV). (B)-(ID). (C)-(I1L), (D)-(I)

Options :

53622813677. 1

53622813678. 2

53622813679. 3
53622813680. 4

Sub-Section Number : 3
Sub-Section Id : 536228139
Question Shuffling Allowed : Yes

Question Id : 5362283512 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the passage and answer guestions 46 to 50.

‘Power’ has been differentiated by numerous authors and practitioners. Amitai Etzioni was
among the first to describe individuals who are able to induce other individuals to comply
and take action because of their position in the organization as having position power; those
who derive their power from their followers are considered to have personal power. Some are
skilled enough to have both. Position power 1s the extent to which those people to whom
managers report are willing to delegate authority and responsibility to them. So position
power tends to flow down In an organization. This is not to say that leaders do not have any
1mpact on how much position power they accrue. Thev certainly do. The confidence and trust
they develop with the people around them will often determine the willingness of upper
management to delegate to them. Remember. though, that whatever power 1s delegated
downward can also be taken back. Personal power 1z the extent to which followers respect,
feel good about. and are committed to the leader. They believe that their own needs and
goals will be recognized. supported, and facilitated by their leader. As such personal power in
an organisational setting comes from below - from the followers — and so flows up in an
organisation. Personal power 1s not inherent in the leader. If it were. managers with
personal power could take over any department and have the same commitment and rapport
they had in their last department. Personal power 1s a day-to-day phenomenon. Personal
power 1s a critical part of having and demonstrating emotional intelligence.

Sub questions

Question Number : 46 Question Id : 5362283513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

When individuals in an organisation ask others to comply with their instructions. it is
identified as

(1) organisational power (2) positional power
(3) authoritarian power (4) delegated power
Options :

53622813681. 1
53622813682. 2
53622813683. 3
53622813684. 4

Question Number : 47 Question Id : 5362283514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Personal power emanates from

(1) the group of managers

(2) the delegation of responsibility

(3) the followers

(4) the top-level executives in an organisation

Options :

53622813685. 1
53622813686. 2
53622813687. 3
53622813688. 4



Question Number : 48 Question Id : 5362283515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Delegation of power to managers depends upon

(1) downward flow of authority (2) the whimsicality of top managers
(3) the people around the management (4) the trust reposed by the top managers
Options :

53622813689. 1
53622813690. 2
53622813691. 3
53622813692. 4

Question Number : 49 Question Id : 5362283516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position power, when delegated 1s

(1) volatile (2) permanent
(3) absolute (4) 1nherent
Options :

53622813693. 1
53622813694. 2
53622813695. 3
53622813696. 4

Question Number : 50 Question Id : 5362283517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage recognizes the critical role of
(1) faith of the leader 1n his followers

(2) emotional intelligence to have personal power

(3) needs and goals of managers for perzonal power

(4) power flowing upwards so that managers can gain personal power
Options :

53622813697. 1
53622813698. 2
53622813699. 3
53622813700. 4

Question Id : 5362283512 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



freafefaa = i SAEgE® 9iEu 997 SHE 9v=E, U9 WA 46 9 50 9% % 099 % I a0

Tt =gl T3 AR SR TG o SEYNIT ° EHE R T R | S SAEAE weiEAE 3 e
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Wﬂ'ﬁﬁﬂﬁﬂﬂ‘tﬂ%ﬂmﬁmﬁ%IWTWW*ﬁmﬂmm T A =
UEETH A7 Wd, d 95 AI9T 9 7 T 3T 9 F w2 |mn=THm?fmaTm=n%ramna
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TR 7 T TRl o1i9d 399N ®9 § WiAHGEd 26l 7 98 IeaEid § 71 Tl 7 | agiEas wied 98
FacArdl 2 708 Hawdl 3704 I90d F Uid oI, WA 99 99 aegd " A Afdsa i 2 | F T
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3 F TR TeyTE ates 1 dafEE wfe w9y jwmwﬁmmﬂmwﬁmﬁuﬁjﬁ
wwn|mﬁhﬁanm?mﬁ=m|wm=mmjwq?mnr=m EREz iR
fearamr =i Toerert 1 fals SadgEs 2 9d a9 J 999 U @9 § 379 JEh il g TS giaegdr
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Sub questions

Question Number : 46 Question Id : 5362283513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
w foft Feonm 9 v =fEa G0 F AW A9 F AT F F o FEAT # a 39 39 TR TeaE
EIGI

(1)  T=gFE oI (2) Teuias oif=
(3) ATTFT FE T (4) TfarETHE T
Options :

53622813681. 1
53622813682. 2
53622813683. 3
53622813684. 4

Question Number : 47 Question Id : 5362283514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T WiFd T 300 Bl 2 7
(1) "= F 99 §
(2) =l & WiEHgE O
(3) A A
(4)  TEOH 39 T FEEE O
Options :

53622813685. 1
53622813686. 2



53622813687. 3
53622813688. 4

Question Number : 48 Question Id : 5362283515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 7@ F1 A9-T91 (2) =4 9259 TAgF F gAEHE
(3)  WEES W AT 9 A (4) T3 gTT3 VAU Z At A
Options :

53622813689. 1
53622813690. 2
53622813691. 3
53622813692. 4

Question Number : 49 Question Id : 5362283516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) afeam =t 2 (2) T BT R
(3) T = 2 (4) =HE =62
Options :

53622813693. 1
53622813694. 2
53622813695. 3
53622813696. 4

Question Number : 50 Question Id : 5362283517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(V) A st A e
(2) 9O TS % UTH SETed It w1 SmE
(3)  AAigah TIfad = foiu TS 1 FAATIFATT U FE
(4)  Ifoa =0Tl B 7 A1 TAEE aaias e T 59
Options :
53622813697. 1
53622813698. 2

53622813699. 3
53622813700. 4



PART II Social Work

Section Id : 53622848
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228140
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
M.G. Ranade 1s related to:

(1) Prarthana Samayj (2) Servant of India Society
(3) Brahma Samaj (4) Satya Sodhak Samaj
Options :

53622813701. 1
53622813702. 2
53622813703. 3
53622813704. 4

Question Number : 51 Question Id : 5362283518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
g UH, TS HeieEd § W R e 27

(1) e T (2) TAZE ATE AT AEEA
(3) w=FEH (4) T TEE HATH
Options :

53622813701. 1
53622813702. 2
53622813703. 3
53622813704. 4

Question Number : 52 Question Id : 5362283519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Primitive culture 1s related to:

(1) Scheduled caste (2) Caste
(3) Tribe (4) Race
Options :

53622813705. 1
53622813706. 2
53622813707. 3
53622813708. 4

Question Number : 52 Question Id : 5362283519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e e frefatn & # frm 3wt 27

1) FgEE S @2 =
(3)  FFamA (4) 7=
Options :

53622813705. 1
53622813706. 2
53622813707. 3
53622813708. 4

Question Number : 53 Question Id : 5362283520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who established the Mahatma Gandhi Chitrakoot Garamoday Vishvavidyalaya?

(1) Mahatma Gandhi (2) Nanaj Deshmukh
(3) Savitri Bai Phule (4) Jawaharlal Nehru
Options :

53622813709. 1
53622813710. 2
53622813711.3
53622813712. 4

Question Number : 53 Question Id : 5362283520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1)  =emear e (2) =T ST
(8) I W F (4) FaTEEE 4EE
Options :

53622813709. 1
53622813710. 2
53622813711.3
53622813712. 4

Question Number : 54 Question Id : 5362283521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Conscientisation’ approach in community organisation 1s:

(1) Provide of services (2) Praxis
(3) Organising people at mass level (4) TUnderstanding community for research
Options :

53622813713. 1
53622813714. 2
53622813715. 3
53622813716. 4

Question Number : 54 Question Id : 5362283521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ST W15 H AT S 39T A #

(1) =& TEE (2 v
(3) =3 T G A F FST HET (4) g F fom TEm TR
Options :

53622813713. 1
53622813714.2
53622813715.3
53622813716. 4

Question Number : 55 Question Id : 5362283522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



The convention on the Elimination of all forms of Discrimination Against Women (CEDAW)

was adopted by the UN General Assembly 1n year

(1) 1995 (2) 1998
(3) 1980 (4) 1984
Options :

53622813717. 1
53622813718.2
53622813719. 3
53622813720. 4

Question Number : 55 Question Id : 5362283522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(CEDAW) "zl & Ta9g =1 791 % 9g9a & FHanw = afyess @37 et g9 $i 9w 991 9 g a9

T = T e

(1) 1995 (2) 1998
(3) 1980 (4) 1984
Options :

53622813717. 1
53622813718. 2
53622813719. 3
53622813720. 4

Question Number : 56 Question Id : 5362283523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
*2030" Agenda for Sustainable Development 15 attributed to

(1) UNDP (2) UNO
(3) FAO (4 WHO
Options :

53622813721. 1
53622813722.2
53622813723. 3
53622813724. 4

Question Number : 56 Question Id : 5362283523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Traug famm 2 2030 FwEEET F 49 G a2 7

(1) Fwasid (2 " A
(3) TETaA (4) =g T Al
Options :

53622813721. 1
53622813722.2
53622813723.3
53622813724. 4

Question Number : 57 Question Id : 5362283524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The oldest trade union in India 1s

(1) AITUC (2) INTUC
(3) BMS (40 CITU
Options :

53622813725. 1
53622813726. 2
53622813727. 3
53622813728. 4

Question Number : 57 Question Id : 5362283524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
rd § HElaF WA 75 IHEE 7

(1) weF (vsmedgE.) (2) 3o (AL HL)
3 s (4 #r (d@emsdig,)
Options :

53622813725. 1
53622813726. 2
53622813727. 3
53622813728. 4

Question Number : 58 Question Id : 5362283525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following introduced urban local self government in India ?

(1) Lord William Bentick (2) Lord Robert Chive
(3) Lord Ripon (4) Lord Curson
Options :

53622813729. 1
53622813730. 2
53622813731.3
53622813732. 4

Question Number : 58 Question Id : 5362283525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WA F el TAHE = IEA A0 Feiead 5 3 e e

(1) =S fafeem sz (2) =TS TEE FoE
(3 == (4) FTE T
Options :

53622813729. 1
53622813730. 2
53622813731. 3
53622813732. 4

Question Number : 59 Question Id : 5362283526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1s a method of social work used for mobilising masses in order to bring about
structural changes in social system to prevent adverse changes

{1 Social Movement (2) Social Action
(3) Communication Organisation (4) PRA and RRA
Options :

53622813733. 1
53622813734.2
53622813735.3
53622813736. 4

Question Number : 59 Question Id : 5362283526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



AT SAEEAT 0 AN Yiadd o AYE Uidgel IfadAt @ T B S99 F Tess B F T
TS w1 § HEienEa § ® e &t w1 ame G o o v

(1)  HEIfa% A=eEE (2) HAETS A
(3)  HHEIEE A (4) T AN T AN AT AT T
Options :

53622813733. 1
53622813734.2
53622813735. 3
53622813736. 4

Question Number : 60 Question Id : 5362283527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In 2011 has passed its first resolution regarding LGBT rights

{1) American Senate (2) U.N. Human Rights Council

(3) World Health Orgamsation (4) Australian Human Rights Council
Options :

53622813737. 1
53622813738. 2
53622813739. 3
53622813740. 4

Question Number : 60 Question Id : 5362283527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2011 ® v S & #1 A & g | S TEH TR 999 TTHA T e
(1) i T2 (2) TIFA T HEATEET TS
(3) Tava = T (4) e AEETEET T
Options :

53622813737. 1
53622813738. 2
53622813739. 3
53622813740. 4

Question Number : 61 Question Id : 5362283528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Functional approach in social case work was developed by

(1) Jezsie Taft (2) Otto Rank
(3) Garden Hamilton {4) Talcott Parsons
Options :

53622813741. 1
53622813742. 2
53622813743. 3
53622813744. 4

Question Number : 61 Question Id : 5362283528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=AfFTa TETE-FE | TEEAE 397 F e e

(1) =i 2w (2) #1221 T®
(3)  TiisA EibweA (4) oIz TTEA
Options :

53622813741. 1
53622813742. 2
53622813743. 3
53622813744. 4

Question Number : 62 Question Id : 5362283529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The concepts of ‘Gisllschaft’ and ‘Gemeinschaft’ are attrmbuted to

(1) Zorokin (2) Tonnies
(3) Keith Devis (4) Zimmerman
Options :

53622813745. 1
53622813746.2
53622813747. 3
53622813748. 4

Question Number : 62 Question Id : 5362283529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘Sfaeoree’ i SEAETEE. o1 AFUEONa 1 49 eiatad 9 § e e A7

N -

(1) A (2) =
(3) Husfm (4) fees
Options :

53622813745. 1
53622813746. 2
53622813747.3
53622813748. 4

Question Number : 63 Question Id : 5362283530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of *Group Dynamics’ 1s attributed to

(1) Kurt Lewin (2) Gustave Le Bon
(3) Wichelm Wundt (4) Willham McDongall
Options :

53622813749. 1
53622813750. 2
53622813751. 3
53622813752. 4

Question Number : 63 Question Id : 5362283530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“mE Al i a1 o9 Fefenad § 1 e 27

(1) =2 == (2) I H A

(3) foerm @z (4) fafem gw=i=
Options :

53622813749. 1
53622813750. 2
53622813751. 3
53622813752. 4

Question Number : 64 Question Id : 5362283531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who coined the terms ‘Prolitariate and Bourgewise with regard to social class?

(1) Max Weber {(2) Bogardus
(3) M.N. Srinivas (4) Karl Marx
Options :

53622813753. 1
53622813754.2
53622813755.3
53622813756. 4

Question Number : 64 Question Id : 5362283531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TR o % H29 A HARE S A U fhed f3u A7

(1) 9" I (2) @rmEE
(3)  wATA. HifHEm (4) =TT
Options :

53622813753. 1
53622813754. 2
53622813755. 3
53622813756. 4

Question Number : 65 Question Id : 5362283532 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following models was developed in response to the prevailing limitations in
conceptualizing social work method 1.e. ‘Integrated Social Work Practice’

(1) Pincus and Minhan Model (2) Task Centred Model
(3) Cognitive Behaviour Model {(4) Shultz Delinzsch Model
Options :

53622813757. 1
53622813758.2
53622813759. 3
53622813760. 4

Question Number : 65 Question Id : 5362283532 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TS wE A S ThEG TS T WOl % AFani i FisE S 6 e § R A

arsel Tawmd T T ar e

(1) i 2 fo9=9 gize (2) 7% HZE °isA
(3)  FrHIT faefere 2isd (4) 74 =fasm AtsA
Options :

53622813757. 1
53622813758. 2
53622813759. 3
53622813760. 4

Question Number : 66 Question Id : 5362283533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
“Maintenance and welfare of Parents and Senior Citizens Act. 2007” 1s an imitiative of
(1) Ministry of Social Welfare
(2) Ministry of Law and Justice
(3) Mimistry of Parliamentary Affairs
(4) Minustry of Social Justice and Empowerment
Options :
53622813761. 1
53622813762. 2

53622813763. 3
53622813764. 4

Question Number : 66 Question Id : 5362283533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e T =SS AT SO U Fed fHam 2007 eteiga 3 ° R aee B Y

(1) HOTH Fed BT

2y  fafg = == 9o

(3) TEEE FE I

(4)  TETSE S 3R AT 5
Options :
53622813761. 1
53622813762. 2

53622813763. 3
53622813764. 4

Question Number : 67 Question Id : 5362283534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Who wrote the famous book "Soje Watan'?

(1) Ramdham Singh Dinkar (2) Sarat Chand
(3) Munshi Premchandra (4) Mathelisharan Gupta
Options :

53622813765. 1
53622813766. 2
53622813767. 3
53622813768. 4

Question Number : 67 Question Id : 5362283534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THg TF A JaT A ol B 7

(1)  Tman & B (2) A==
(3)  Toft umEE (4) HforeeroT 7H
Options :

53622813765. 1
53622813766. 2
53622813767. 3
53622813768. 4

Question Number : 68 Question Id : 5362283535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following case laws 13 the Prelude 1n the enactment of “The Sexual Harassment
of Women at Workplace (Prevention. Prohibition and Redressal) Act™, 2013

(1) Vishaka and others Vs. State of Rajasthan
(2) M.C. Mehta Vs. Union of India
(3) S.E. Bommai Vs. Union of India
(4) Rajamal Vs. Jayavilas Motor Company
Options :

53622813769. 1
53622813770. 2
53622813771.3
53622813772. 4

Question Number : 68 Question Id : 5362283535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



FEEAT T AfEeaA w1 w0 sedtea (FaEmm, wiiy ot wRem) sifuREm, 2013 F w5
TR T AT § H R R

(1) T v A= 99 TR T

(2) U9 Al HEar 99 HAEG 99

(3)  TH AN HHE = 9EA "

(4) AT 911 SS9 312t F9H0
Options :

53622813769. 1

53622813770. 2

53622813771. 3

53622813772. 4

Question Number : 69 Question Id : 5362283536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
Which among the following laid foundation for the concept of “Welfare State”

(1) Beveridge Report (2) Manu Smirti
(3) Magna Carta (4) Poor Law
Options :

53622813773. 1
53622813774.2
53622813775. 3
53622813776. 4

Question Number : 69 Question Id : 5362283536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FefatEa O 8 ‘T =9 i SEaE 5 SEE -

(1)  ==f foe (2) =1 wE
(3) =T (4) g
Options :

53622813773. 1
53622813774.2
53622813775. 3
53622813776. 4

Question Number : 70 Question Id : 5362283537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Calculation of number of deaths per thousand falls under the measure of

(1) Nominal scale (2) Ordinal scale
(3) Ratio scale (4) Internal scale
Options :

53622813777. 1
53622813778.2
53622813779.3
53622813780. 4

Question Number : 70 Question Id : 5362283537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
il s i B 7 farees e e e e e e e T o

(1) HThRTaF AT (2) FAg=H —F
(3) AT AT (4) TEAE GTOET
Options :

53622813777. 1
53622813778. 2
53622813779.3
53622813780. 4

Question Number : 71 Question Id : 5362283538 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The two natural channels for meeting individual's needs are explained in

(1) The industrial achievement of social policy
(2) The residual welfare model of social policy
(3) Performance model of social policy

(4) Redistributive model of social policy

Options :

53622813781. 1
53622813782. 2
53622813783. 3
53622813784. 4

Question Number : 71 Question Id : 5362283538 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=Afa 1 AravAwaS iy 7g 3 FEETEs AreEt i = e g i w
(1) =T =it =1 ST 9y

(2) T A 1 SAFETE Fe "isA

(3)  HEITEE A1A F1 HEEEEA Higd

(4)  FEITAE A F F A ETE Jse
Options :

53622813781. 1

53622813782.2

53622813783.3

53622813784. 4

Question Number : 72 Question Id : 5362283539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following 1s not included 1n standard of living

(1) Level of education (2) House
(3) Employment status (4) Self-esteem
Options :

53622813785. 1
53622813786. 2
53622813787. 3
53622813788. 4

Question Number : 72 Question Id : 5362283539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TEA-HEA & T g § ° 5 afmied T8 B e e v

(1)  foem =1 =1 (2) HFH
(3) T i WiET (4) 3T T
Options :

53622813785. 1
53622813786. 2
53622813787.3
53622813788. 4

Question Number : 73 Question Id : 5362283540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The death of children below one vear of life 1s known as

(1) Child mortality (2) Post-natal mortality
(3) Infant mortality (4) Neo-natal mortality
Options :

53622813789. 1
53622813790. 2
53622813791. 3
53622813792. 4

Question Number : 73 Question Id : 5362283540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TF 99 T F A F AAF H G F FA7 TS AR 7

(1) == g3 (2) THE 9= §OE
(3) o g (4 =T mE g
Options :

53622813789. 1
53622813790. 2
53622813791.3
53622813792. 4

Question Number : 74 Question Id : 5362283541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

The highest point in the measurement of health-disease spectrum 1s

(1) Death (2) Positive Health
(3) Illness (4) Unhappiness
Options :

53622813793. 1
53622813794. 2
53622813795.3
53622813796. 4

Question Number : 74 Question Id : 5362283541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T T TEE o i = e E

(1) e | (2) e =
(3) =MWl (4) FEEE
Options :

53622813793. 1
53622813794.2
53622813795.3
53622813796. 4

Question Number : 75 Question Id : 5362283542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which one of the following commumnity approaches was not given by M.G. Ross?

(1) The Specific Content Approach (2) The General Content Approach
(3) The Process Approach (4) The Social Planning Approach
Options :

53622813797. 1
53622813798. 2
53622813799. 3
53622813800. 4

Question Number : 75 Question Id : 5362283542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feieatad 8 & i -31 SHEiE® S0 THHLTE 96 E

(1) fafirz Fi=z s97m @ am R

(3) Wi 39TH (4) e
Options :

53622813797. 1
53622813798. 2
53622813799. 3
53622813800. 4

Question Number : 76 Question Id : 5362283543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Free Assoclation is a technique of

(1) Behaviour Therapy (2) Cogmtive Therapy
(3) Client-Centred Therapy (4) Psychoanalytic Therapy
Options :

53622813801. 1
53622813802. 2
53622813803. 3
53622813804. 4

Question Number : 76 Question Id : 5362283543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oo mEE TEenad § e o E

(1) EECISERE I (2) TFFAATHF ITER
(3) T} irgd SR (4) TAMEvETF 3790
Options :

53622813801. 1
53622813802. 2
53622813803. 3
53622813804. 4

Question Number : 77 Question Id : 5362283544 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following is not the part of Saul Alinskv's model of Social Action ?

(1) Attacking the person who heads the establishment
(2) Inducing anger and hate

(3) Ends should justify means

(4) Destroving the individual who holds power

Options :

53622813805. 1
53622813806. 2
53622813807. 3
53622813808. 4

Question Number : 77 Question Id : 5362283544 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fafafiga O o 791 O vieiEhl & Oisd AI7F T9E TE W 9 Aa A 7
(1) =919 % T9H T AT 591

(2) TG AR GON F 9 I FAT

(3) =A% feu HmEA == B =R

(4)  HeEHEl =EiE 5 "EE e

Options :

53622813805. 1

53622813806. 2

53622813807. 3
53622813808. 4

Question Number : 78 Question Id : 5362283545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
W.5. Gosset developed

(1) T-test (2) Z-test
(3) U-test (4) Chi-square test
Options :

53622813809. 1
53622813810. 2
53622813811. 3
53622813812. 4

Question Number : 78 Question Id : 5362283545 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Zae] TH, MG A TaRfEa R an

(1)  ZFi-wiem (2) Fs-wiiEm
(3)  F-whEm (4) FTE—T7
Options :

53622813809. 1
53622813810. 2
53622813811.3
53622813812. 4

Question Number : 79 Question Id : 5362283546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which Article talks about abolition of untouchability?

(1) Article 14 (2) Article 17
(3) Article 51 (4) Article 15
Options :

53622813813. 1
53622813814.2
53622813815. 3
53622813816. 4

Question Number : 79 Question Id : 5362283546 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) = 9=33 14 (2) a9 17
(3) =32 51 (4) =2 1S
Options :

53622813813. 1
53622813814. 2
53622813815. 3
53622813816. 4

Question Number : 80 Question Id : 5362283547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Article of Indian Constitution makes provision for maternity relief ?

(1) Article 47 (2) Article 42
(3) Article 43 (4) Article 41
Options :

53622813817. 1
53622813818. 2
53622813819. 3
53622813820. 4

Question Number : 80 Question Id : 5362283547 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



GAATT \iaaH % 8 3= % 1afd Ted F Ivey e o 27

(1) =23 47 (2) =32 42
(8)  IE=EE 43 (4) @R 41
Options :

53622813817. 1
53622813818. 2
53622813819. 3
53622813820. 4

Question Number : 81 Question Id : 5362283548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the square root of varance?

(1) Range (2) Standard Deviation
(3) Dispersion (4) Median
Options :

53622813821. 1
53622813822.2
53622813823. 3
53622813824. 4

Question Number : 81 Question Id : 5362283548 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TET T A TR T

(1) (2) ¥ fT=Ea
(3) PEALE (4) IR
Options :

53622813821. 1
53622813822.2
53622813823.3
53622813824. 4

Question Number : 82 Question Id : 5362283549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following falls within the scope of welfare services?

(1) Vocational Education (2) Special Education
(3) Higher Education (4) Techmical Education



Options :

53622813825. 1
53622813826. 2
53622813827.3
53622813828. 4

Question Number : 82 Question Id : 5362283549 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

frfangs 5 5 =0 =019 997 F 89 % 99 A9

(1)  =aeEas e () o o
(3) == TEm (4) FHATR foET
Options :

53622813825. 1
53622813826. 2
53622813827. 3
53622813828. 4

Question Number : 83 Question Id : 5362283550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A process where social policy 1s transformed into social service 1s called

(1) Social welfare administration (2) Social reform
(3) Social security {(4) Social action
Options :

53622813829. 1
53622813830. 2
53622813831. 3
53622813832. 4

Question Number : 83 Question Id : 5362283550 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o= UlEn. oo mamrfs it = 99 991 ° =9d TR 9 2, FEal o

(1) HHTHA Fe Ao EEHA (2) =HTH 7497
(3) =i A (4) HETTAE T
Options :

53622813829. 1
53622813830. 2
53622813831.3
53622813832. 4



Question Number : 84 Question Id : 5362283551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Time-bound package of inter-related activities 1z known as:

(1) Programme (2) Activity
(3) Project (4) Task
Options :

53622813833. 1
53622813834.2
53622813835.3
53622813836. 4

Question Number : 84 Question Id : 5362283551 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T: TEE FEAFAY T FleEE 95T F 59 Fal T4 E

(1) EA PR 3T (2} [ aTFeg

(3) i (4) =4
Options :

53622813833. 1
53622813834.2
53622813835.3
53622813836. 4

Question Number : 85 Question Id : 5362283552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The basis of Durkheim’s theory of deviance 1s:

(1) Ritualism (2) Conformity
(3) Anomie (4) Retreatism
Options :

53622813837. 1
53622813838. 2
53622813839.3
53622813840. 4

Question Number : 85 Question Id : 5362283552 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fdn = e fagm =1 wmm 2

r "

(1) FHHIS (2) =Tl
(3) ST (4) TT=THAETE
Options :

53622813837. 1
53622813838. 2
53622813839. 3
53622813840. 4

Question Number : 86 Question Id : 5362283553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements 1s not correct?

(1) Qualitative study 1s conducted by case study
(2) Quantitative study 1s conducted by survey method

(3) Inerview 1s conducted In questionnaire method

(4) Each umit of universe has equal chance of selection in sample through random
sampling

Options :

53622813841. 1
53622813842.2
53622813843.3
53622813844. 4

Question Number : 86 Question Id : 5362283553 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
fAfefaa 5 o FH-91 T4 T5 95 2

(1)  ToIeH® WeAEH FE ASEA g R R

-

(2)  URHETTCHS AEES gAY g R e 2

(3) TvAEE] &Y S AT T 2
(4)  TAgioF Ti=EA & HTEE ° TEfE i Yo S 3 029 0 WiaeEd i T SS9 w2

Options :

53622813841. 1
53622813842. 2
53622813843.3
53622813844. 4

Question Number : 87 Question Id : 5362283554 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The framework of Mahatma Gandhi National Employment Guarantee Scheme is based on:

(1) Right (2) Welfare
{3) Insurance (4) Assistance
Options :

53622813845. 1
53622813846. 2
53622813847. 3
53622813848. 4

Question Number : 87 Question Id : 5362283554 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T e T TSR A T T a () et § & e W amata

(1) e oEan (2) e
(3)  =m (4) =&EEE
Options :

53622813845. 1
53622813846. 2
53622813847.3
53622813848. 4

Question Number : 88 Question Id : 5362283555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ram Erishna Mission was formed 1n

(1) 1897 (2) 1862
(3) 1903 (4) 1898
Options :

53622813849. 1
53622813850. 2
53622813851. 3
53622813852. 4

Question Number : 88 Question Id : 5362283555 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) 1897 (2) 1862
(3) 1903 (4) 1898
Options :

53622813849. 1
53622813850. 2
53622813851.3
53622813852. 4

Question Number : 89 Question Id : 5362283556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the time limit fixed in Development Agenda cited ‘Transforming our world" ?

(1) 2030 (2) 2060
(3) 2040 (4) 2050
Options :

53622813853. 1
53622813854. 2
53622813855. 3
53622813856. 4

Question Number : 89 Question Id : 5362283556 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) =9 2030 (2) =9 2060
(3) =9 2040 (4) =9 2050
Options :

53622813853. 1
53622813854. 2
53622813855. 3
53622813856. 4

Question Number : 90 Question Id : 5362283557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Ego states referred to in Transactional Analysis Theory does not include

(1) Child (2) Parents
(3) Adults (4) Sibling
Options :

53622813857. 1
53622813858. 2
53622813859. 3
53622813860. 4

Question Number : 90 Question Id : 5362283557 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Teraan favey foga | 92ida w7 sEaad § Heeiad § 9 5 e 96 e 9 e

(1) e (2) TTAT-Taa
(3) = (4) H=E AT/
Options :

53622813857. 1
53622813858. 2
53622813859. 3
53622813860. 4

Question Number : 91 Question Id : 5362283558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Generally, the aim of social work profession 1s:

(A) Eemoval of social imjustice
(B) Relieving distress
(C) Preventing suffering

(D) Practicing diserimination

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (A) and (C) only

(4) (A), (B), (C) and (D) only

Options :

53622813861. 1
53622813862.2
53622813863. 3
53622813864. 4

Question Number : 91 Question Id : 5362283558 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



BT, TS FE SOaETE 32T B

(A)  FEITF AT FTHEA
(B) T==E ¥ HIHI FAI
(C) == Hamm

(D)  HE9EY =EER AT

= fou o Tt # | = I g

(1) === (A). (B) 1 (C)
(2) A (A) 3T (B)
(3)  FAF (A) 37 (O)

(4)  Fa4 (A). (B). (C) #1T (D)

Options :

53622813861. 1
53622813862. 2
53622813863. 3
53622813864. 4

Question Number : 92 Question Id : 5362283559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following techniques on which the social worker should have command?

(A) Explaining
(B) Adwvising
(C)  Reinforeing

(D)  Reassuring

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A). (B). (C) and (D) only
Options :
53622813865. 1
53622813866. 2
53622813867. 3
53622813868. 4

Question Number : 92 Question Id : 5362283559 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT 5% FEFA1 F1 Hefenigd § O 569 T4 § 9098 791 F00E0

(A) =
(B) T
(C) s

Hr= oo o faweat O | =8 o 9

(1) == (A) 31T (B)
(2)  F== (B) 37 (C)
(3)  =Fa= (C) = (D)

(4) === (A). (B), (C) 57 (D)
Options :
53622813865. 1
53622813866. 2
53622813867. 3
53622813868. 4

Question Number : 93 Question Id : 5362283560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



IFSW Global definition of Social work 1n corporates -

(A) Equality
(B) Freedom
(C)  Liberty

(D) Enhance Wellbeing

Choose the correct answer from the options given below:

(1) (A), (B), (C) and (D) only
(2) {A) and (B) only
(3) (C) and (D) only

(4) (A). (B). (C) and (D)

Options :

53622813869. 1
53622813870. 2
53622813871. 3
53622813872. 4

Question Number : 93 Question Id : 5362283560 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TETH A H AT UF vH saeg  (IFSW) favasnd uicamn @ ffa 7

(A)  HEFEAT
(B) TR
(C) ==l

(D) TR wgH
= f3u T fashew 0 ° T I 9

(1) == (A). (B). (C) w7 (D)
(2)  FaF (A) 7 (B)
(3)  Fa= (C) 5 (D)

(4 =#E (A). B) 7 (C), (D)
Options :
53622813869. 1
53622813870. 2
53622813871.3
53622813872. 4

Question Number : 94 Question Id : 5362283561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In achieving maximum effective with democratic group process. a group needs

(A)  Group thinking
(B) Group discussion
(C) Group planning

(D) Group action and evaluation

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A). (B). (C) and (D) only

(4) {A) and (C) only

Options :

53622813873. 1
53622813874. 2
53622813875.3
53622813876. 4

Question Number : 94 Question Id : 5362283561 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FAAICE A7 Ui 0 SIeAiaE THE U A 6 o, 5eE o snafi e o

(A)  THEF =
(B) =W Tt
(C) =S T fHmm

(D)  =HEF T S0 gearA
F= 20 T fawew 3 ° 59 5 96

(1) a9 (A) 31 (B)
(2)  =Fa= (B) #E (C)
(3)  Fa (A). (B), (C) 37 (D)

(4)  =E= (A), # (C)
Options :
53622813873. 1
53622813874. 2
53622813875.3
53622813876. 4

Question Number : 95 Question Id : 5362283562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Human Development Index (HDI) 1s a comparative measures of:

(A)  Laife expectancy
(B) Literacy
(C) Standard of Living

(D) Income

Choose the correct answer from the options given below:

(1)  (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (A). (C) and (D) only

(4) (B) and (C) only
Options :

53622813877. 1
53622813878.2
53622813879. 3
53622813880. 4

Question Number : 95 Question Id : 5362283562 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



o4 9 o (TEgies) FeianEd § F e o ove f

(A) EIEE R IE
(B) @&l
(C) 981+ =0

(D) e

= f5u v fawewl 9 8 =8 3 9w

(1) == (A). (B) 3l (C)
(2)  =F== (A). (B) @t (D)
(3)  Fa7 (A), (C) 7T (D)

(4) === (B) # (O)
Options :
53622813877. 1
53622813878. 2
53622813879. 3
53622813880. 4

Question Number : 96 Question Id : 5362283563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Social defence attempts to prevent and control

(A)  Juvenile dehnquency and crime
(B) Suppression of immoral traffic
(C) Prevention and control of drug abuse

(D) Protection of old persons

Choose the correct answer from the options given below:

(1) (A) only
(2) (A), (B) and (C) only
(3) (A), (B) and (D) only

(4) (A), (B). (C) and (D) only

Options :

53622813881. 1
53622813882. 2
53622813883.3
53622813884. 4

Question Number : 96 Question Id : 5362283563 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



oot Tiaee § Hefead 85 o s e o3 e = gmm F oa e

(A) T Feere #H e
(B)  HTGF THIR F1 204
(C)  ==mar fame =7 fagam

(D) Tt #1 mE

= fou At 9 @ TE I 9fm
(1) 99 (A)

(2)  F== (A). (B) # (C)

(3) ¥ (A). (B) w7 (D)

4 == (A). B). (C) 3T (D)
Options :
53622813881. 1
53622813882. 2
53622813883. 3
53622813884. 4

Question Number : 97 Question Id : 5362283564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are not principles of social eroup work?

(A) Planned group formation
(B) Adhering to the group leader’s decizion
() Resource utilization

(D) Performance based judgements

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only
(2) (A), (B) and (D) only
(3)  (A) and (B) only
(4) (B) and (C) only

Options :

53622813885. 1
53622813886. 2
53622813887.3
53622813888. 4

Question Number : 97 Question Id : 5362283564 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f=feifiga 4 9 =F-1 997s 995 % % g T8 2 ¢
(A)  Fr=AEZ TR FEm

(B)  THE ® Al ® O HWY U

(C)  HETIH =1 39

(D)  Toaea =naria gearsA

9 fou T Tt 4§ wE I g

(1) =39 (A). (B) ¥ (C)
(2)  =a9 (A). (B) w1 (D)
(3) === (A) ¥R (B)

(4) == (B) @7 (C)
Options :
53622813885. 1
53622813886. 2
53622813887.3
53622813888. 4

Question Number : 98 Question Id : 5362283565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The principles of chent-work relationship are:

(A) Individualization
(B) Controlled Emotional Relationship

(C) Acceptance

(D) Confidentiality

Choose the correct answer from the options given below:

(1) (A) and (B) only
() (A). (B). (C) and (D) only
(3) (A) and (C) only

(4) (A) and (D) only
Options :
53622813889. 1
53622813890. 2
53622813891. 3
53622813892. 4

Question Number : 98 Question Id : 5362283565 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T - ey = g 2
(A) R
B) FAEE gEATEE Tay
(C)  ==rhmEal

(D)  THEE

= fau o fawedt 4 | wE I g

(1) a7 (A) ¥F (B)
(2)  Fa9 (A). (B). (C) 317 (D)
(3) === (A) 7F (C)

(4)  Fa=9 (A) FE (D)

Options :

53622813889. 1
53622813890. 2
53622813891. 3
53622813892. 4

Question Number : 99 Question Id : 5362283566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Robins. major functions of communication 1n a group are:

(A) Control
(B) Motivation
(C)  Emotional expression and information

(D)  Foreing members to keep silent and ignoring their cause

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) {A) and (C) only
(3) (A) and (B) only

(4) (A), (B) and (C) only

Options :

53622813893. 1
53622813894. 2
53622813895.3
53622813896. 4

Question Number : 99 Question Id : 5362283566 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TS F ST e T § =R F 5 U

-~ *

(A) ==
(B) A
(C) e sifw=AtT 31 g

(D) =& W 9 T H A9 S5 i SEeeT w1 e g8 2

H= 20 T fawew 4 9 59 3 g

(1)  Fa9 (A) w1 (D)
(2)  =a= (A) #° (C)
(3)  =Aw (A) ¥ (B)

(4)  FF7 (A). (B) I (C)

Options :

53622813893. 1
53622813894. 2
53622813895. 3
53622813896. 4

Question Number : 100 Question Id : 5362283567 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Robert Redfield has mentioned which of the folowing gualities of Little Community

(A) Distinctiveness
(B) Small size
(C)  Homogeneity of inhabitants

(D Dependence on other community

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (A). (B) and (C) only
(3) (A). (B) and (D) only

(4) (A). (B). (C) and (D) only

Options :

53622813897. 1
53622813898. 2
53622813899. 3
53622813900. 4

Question Number : 100 Question Id : 5362283567 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) G| El =
(B) G FHR
(C)  Trartmal =it wegan

(D) = @92 W 9T

g fou Tu faereal 0 9 wE ST 9T

(1) =3 (A) 37 (D)
(2) == (A). (B) 3T (C)
(3)  =a= (A). (B) w7 (D)

(4) === (A). (B). (C) =1 (D)

Options :

53622813897. 1
53622813898. 2
53622813899. 3
53622813900. 4

Question Number : 101 Question Id : 5362283568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The symptons of depression are

(A) Social withdrawal
(B) Low zelfworth
(Cy  Fatigue

(D)  Nochange in appetite

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (A). (B) and (C) only
(3 (A), (B) and (D)) only

i4) (A). (B). (C) and (D) only

Options :

53622813901. 1
53622813902. 2
53622813903. 3
53622813904. 4

Question Number : 101 Question Id : 5362283568 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FTEE F T B -

(A)  HETEF FEEA
(B) = ww T=E
(C) g=H

(D) 9@ d *E qEA T

e f3u o fasedt 9 9 maTa® IUgE 3 g0

(1)  =aa (A) 3 (D)
(2)  Faa (A), (B) 3R (C)
(3)  FaF (A), (B) ¥R (D)

(4) =9 (A). (B), (C) 3T (D)

Options :

53622813901. 1
53622813902. 2
53622813903. 3
53622813904. 4

Question Number : 102 Question Id : 5362283569 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What are the functions of community council 1n community organisation?

(A) Fact finding
(B) Promoting public understanding
(C)  Fund raising

(D) Coordination of activities

Choose the correct answer from the options given below:

(1) (A), (B) and (C) only
(2) (A). (B), (C) and (D) only
(3) (A), (B) and (D) only

(4) (B), (C) and (D) only

Options :

53622813905. 1
53622813906. 2
53622813907. 3
53622813908. 4

Question Number : 102 Question Id : 5362283569 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= fou T faewt 4§ matfas s999 39 9T

(1) =39 (A). (B) w1 (C)
(2)  F=4 (A). (B). (C) 311 (D)
(3) = (A). (B) 3t (D)

(4)  Fa= (B). (O) 3% (D)

Options :

53622813905. 1
53622813906. 2
53622813907. 3
53622813908. 4

Question Number : 103 Question Id : 5362283570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Juvenile Justice (Care and Protection of Children) Act. 2015 includes children needing
care and protection. The measures include -

(A)  Rehablitation

(B) Adoption

(C) Reintegration

(D) Restoration

Choose the correct answer from the options given below:

(1) {A). (C), (D) only

(2) (B) and (C) only

(3) (A). (B). (C). (D) only
i4) {A). (C) only

Options :

53622813909. 1
53622813910. 2
53622813911. 3
53622813912. 4

Question Number : 103 Question Id : 5362283570 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ROl =1 (AT i S S HEA) STEEE, 2015 F 9Ed sEig HRE WA il Ayt Je

T

(A) T
:B} J.-.!q Hrf_a]
(C) 4 oo

=S

(D) ATTHT

Hr f2u U faweTt 9 | maiteE 399FT I gAT

(1) === (A). (C). (D)

(2)  Faa (B) #E ()

(3) A (A). (B). (C) w1 (D)
(4) Ao (A) HR(O)

Options :

53622813909. 1
53622813910. 2
53622813911. 3
53622813912. 4

Question Number : 104 Question Id : 5362283571 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the duties have been prescribed by Indian Constitution for the citizens of India?

(4) To develop zcientific temper

(B) To preserve rich heritage of our composite culture

(C) To minimize income Inequalities

(D)  To defend the country

Choose the correct answer from the options given below:

(1) (A) and (C) only
(2) (A) and (B) only
(3) (A). (B), (C) and (D) only

(4) {A). (B) and (D) only
Options :
53622813913. 1
53622813914.2
53622813915. 3
53622813916. 4

Question Number : 104 Question Id : 5362283571 Question Type
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question



AIATE B A1 9RA = AR % 70 6 § %03 faied e 7o 27
(A) = T et e

(B)  FAWI Mi4A TFF @ A9F F0EA F HAY FA

(C) =17 1 FEAETA F AT T

(D) == =1 7E

= fau v fasedl 9 @ wEoE 99 I G0 ;

(1) == (A) =1 (C)
(2) A (A) =W (B)
(3) a4 (A). (B), (C) 317 (D)

(4) =9 (A). (B) ¥ (D)

Options :

53622813913. 1
53622813914.2
53622813915. 3
53622813916. 4

Question Number : 105 Question Id : 5362283572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Citizen Act 1955, by which of the following ways can a person lose citizenship of
India

(4) By Renunciation

(B) By Termination

(C) By Deprivation

(D) By conviction to crime

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) (A). (B). (C) and (D) only

(4) (B) and (C) only
Options :

53622813917. 1
53622813918. 2
53622813919. 3
53622813920. 4

Question Number : 105 Question Id : 5362283572 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o H TR TN =t 191 AT & 55T 2 ¢

-

(A) e
(B) wHIH
(C) K |

D) 3T i g

= fou U Tk 9 © maras 39 39 9T

(1) === (A) #F (B)
(@)  Fa= (A). (B) # (C)
(3) A= (A). (B). (C) #F (D)

(4)  =a= (B) W7 (C)

Options :

53622813917. 1
53622813918. 2
53622813919. 3
53622813920. 4

Question Number : 106 Question Id : 5362283573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who can form an NGO?
(A)  Body of individuals
(B) Hindu Undivided Family through its karta
(C) An institution

Choose the correct answer from the options given below:

(1)  (A). (B) and (C) only (2) (A) and (B) only
{3) (A) and (C) only (4) (B)and (C) only
Options :

53622813921. 1
53622813922.2
53622813923. 3
53622813924. 4



Question Number : 106 Question Id : 5362283573 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A)  =fFaar = e

(B) = At & meAn | fag wfawife gfem
(C) T e

Hi= fau T el 6 O mETfaE STEEE I 96

(1) == (A). (B) # (C) (2) == (A) #0 (B)
(3)  FaE (A) #F (C) (@) == (B) 3 (C)
Options :

53622813921. 1
53622813922. 2
53622813923. 3
53622813924. 4

Question Number : 107 Question Id : 5362283574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Means Test 1= done 1n:
{A) Availability of social services
(B) Availability of social welfare services
(O Availability of services to economically weaker zections
(D) Awvailabihity of services to tribals

Choose the correct answer from the options given below:

(1) (A) and (D) only (2) (A). (B) and (C) only
(3) (B). (C) and (D) only {4y (A), (B), (C) and (D) only
Options :

53622813925. 1
53622813926. 2
53622813927.3
53622813928. 4

Question Number : 107 Question Id : 5362283574 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“Himm 2’ Tttt 4 o T | e s 27

(A)  TETE FEEAT FI Tl

(B)  THTH FoAI TEATS] i TS

(C) =TT =9 o AT JU1 % [0 Harati =i Soersear

D) wTfeaTaaT & Tom TSl 1 SRl

= fou T fawewt 9 @ TEifas s9ged I 9AT

(1) a4 (A) #F (D) (2) == (A), (B) 3117 (C)
(3)  Fa9 (B). (C) % (D) (4) F= (A). (B). (C) 371 (D)
Options :

53622813925. 1
53622813926. 2
53622813927. 3
53622813928. 4

Question Number : 108 Question Id : 5362283575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following explains the concept of rights?
(A) Which 1s morally or socially correct or just, fair treatment
(B) A justification of fair claim

{C} A thing which can be clained legally or morally
(D)  Compelling people to follow set of prescribed choices only

Choose the correct answer from the options given below:

(1) (A) and (D) only (2) (A) and (B) only
(3) (A) and (C) only (4) (A). (B)and (C) only
Options :

53622813929. 1
53622813930. 2
53622813931. 3
53622813932. 4

Question Number : 108 Question Id : 5362283575 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faeafefiga 5 | FH-—FH AR i sTgann # T0 wd 2 7
(A)  ATaw A9 G =Y H T AYG =EETE 306 ==
(B) =mEiEd T s

(C)  Tafs wwan 4 ®9 ° Ae9d =5

(D)  Traffa wa=at =1 s9es #E F o S w e w5

Fra f2u T faweTt © @ mEiteE 39T I 9T

(1) 3= (A) 47 (D) (2) A (A) #T (B)
(3) === (A) FT (C) (4) =F= (A). (B) 37 (C)
Options :

53622813929. 1
53622813930. 2
53622813931.3
53622813932. 4

Question Number : 109 Question Id : 5362283576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following skills are essential in resource mobilisation?
(A) Skill 1in 1dentifying resources
(B) Skill 1n preparation of project proposal

I{.G} Skill in locating indigenous resources
(D) Skill 1n collecting cash only

Choose the correct answer from the options given below:

(1) {A) and (D) only (Z) (A) and (B) only
(3) (A), (B) and (C) only (4) (A) and (C) only
Options :

53622813933. 1
53622813934. 2
53622813935.3
53622813936. 4

Question Number : 109 Question Id : 5362283576 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 57 B ffetad 8 ¥ F4 F e A 2
(A)  TEEET F TEEAH T H B

{B} Eerﬂ- A1 WA g*—il* '-1'-*.:| =hl '-{":.-!i:.r|ﬂ
(D)  =a= TA BUET H1 AT

= fau o fawedt 9 ® gatfos s9ge I 9w

Sl ki @) FE (@A) AR (B)
(3)  Fa (A), (B) 31 (C) @ et (&) 3 (O
Options :

53622813933. 1
53622813934. 2
53622813935.3
53622813936. 4

Question Number : 110 Question Id : 5362283577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who grants probation to affenders?

(A) Police

(B) Court

(C) Prosecution

(D) Jail

Choose the correct answer from the options given below:

(1) (A) and (C) only (2) (B)only

(3) (A). (C) and (D) only (4) (A). (B) and (C) only
Options :

53622813937. 1
53622813938. 2
53622813939. 3
53622813940. 4

Question Number : 110 Question Id : 5362283577 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) Ul
(B) —E=A
© s

(D) FAME

Hr= f2r o faew 9 @ @R I g

(1) =Faa (A) 37 (C) (2) =9 (B)

(3)  =Haa (A). (C) 3 (D) (4) F=e (A), (B) #11 (C)
Options :

53622813937. 1
53622813938. 2
53622813939. 3
53622813940. 4

Question Number : 111 Question Id : 5362283578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Snowball sampling can help research to -

(A} Access deviant or hiddle population
(B) Theorize inductively in qualitative studies
(C) Overcome the problems of not having an accesszible sampling frame

(D)  Everv individual has a chance to be selected

Choose the correct answer from the options given below:

(1) (A), (B) and (D) only (2) (B). (C) and (D) only
i(3) (A), (B) and (C) only (4) (A) and (C) only
Options :

53622813941. 1
53622813942. 2
53622813943. 3
53622813944. 4

Question Number : 111 Question Id : 5362283578 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TS HOe (UiaEe) UF gl B e FEEdl we A7
(&) T o e sEEE
(B) VIR HEIES H ATTHATCHRAT T AT

(C) === Wia=== =9 7 5 1 THS 5 FH

(D)  we=a =i Fil F96Hd 7H ) a9 w

+= f2u T fawew 9§ =9 5 9

(1) =34 (A). (B) 37 (D) (2) === (B), (C) #7 (D)

(3)  FaE (A). (B) #F (C) (4) A= (A) 37 (C)
Options :

53622813941. 1
53622813942.2
53622813943. 3
53622813944. 4

Question Number : 112 Question Id : 5362283579 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statement indicates the nature of objectivity?

(A) Objectivity 18 always based on the mental cognition of the person concerned

(B) To come upon objectively., consistent thinking with logical approach 1z to be

maintained

(C) Degree of objectivity differs from person to person in different or same situations

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2) (A) and (B) only
(3) {(B) and (C) only

(4) (A) and (C) only

Options :

53622813945. 1
53622813946. 2
53622813947.3
53622813948. 4

Question Number : 112 Question Id : 5362283579 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEATefiad 8 & i T FUF FquUEaT 1 THid i S o O 2 7

(A) =TT FHE TEiaE =AiF % HERE S W e w6 2
(B)  =whal = o0 AT SHUH W WY G HrE TEH = SEvEal 7

(C)  =guehal =i = fa=1 s1an wam gttt 4 fam-fam =fFam % foo fa= =6 2

H= f2u T fasew 9 @ = I g

(1) =4 (A). (B) # (C)
(2)  =HaE (A) # R (B)
(3) === (B) w1 (C)

(4)  Fa9 (A) 5T (C)

Options :

53622813945. 1
53622813946. 2
53622813947. 3
53622813948. 4

Question Number : 113 Question Id : 5362283580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Observation means to see things

(A) With a bais

(B) With many purposes

(C)  Without a purpose

(D) For important discussion

(E) For understanding the phenomena

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (B) and (E) only
(3) (A) and (C) only

(4) (A). (B). (C) and (D) only

Options :

53622813949. 1
53622813950. 2
53622813951.3
53622813952. 4

Question Number : 113 Question Id : 5362283580 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



TEOT T AG 7 FAleiEy = W == 2w
(A) 99T F WY

(B) 31 WETSAT % |19

(C)  Torr Foredt =M

(D) Ty g9l & o

(B) =1 F1 997 =g == F o

2 f2o o famwewl @ | gE I g

(1) === (A) 37 (D)
(2)  =FAw (B) ¥F (E)
(3)  =a= (A) W (C)

(4) == (A). B). (). 5T (D)
Options :
53622813949. 1
53622813950. 2
53622813951. 3
53622813952. 4

Question Number : 114 Question Id : 5362283581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Maslow 1dentified which of the following characteristics among self-actualized people

(A) Full acceptance of their own nature

(B) Commitment and dedication to some kind of work
(C) A need of autonomy. privacy and independence
(DY An attitude of creativeness

(Ey  Fulfilling the daily needs and duties

Choose the correct answer from the options given below:

(1) (A), (B) and (E)

(2) (B), (C) and (E) only

(3) (A), (B) and (C) only

(4) (A), (B). (C) and (D) only

Options :

53622813953. 1
53622813954. 2
53622813955.3
53622813956. 4

Question Number : 114 Question Id : 5362283581 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ATCH HEATAET =aFaa] 8 F=nad 9 o %4 5 Eerearet fi a1 9wwe 20
(A) = = & = g =

(B)  FiAwT F14 % Td T=EEa] A0 g9

(C)  ==ma=r, Ty 31 =aaa] i AEvaFal

(D)  T=ATHEA i A

= f2u T faseat 4 @ B I g

(1) 34 (A). (B) #r (E)
(2) Fa= (B), (C) @ (E)
(3)  Fa7 (A). (B) @1 (C)

4)  Fa9 (A). B). (C) w7 (D)
Options :

53622813953. 1

53622813954. 2

53622813955.3

53622813956. 4

Question Number : 115 Question Id : 5362283582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Perception 1z always and therefore selective.

(A) Objective
(B) Subjective
(C) Negative

(D) Positive

Choose the correct answer from the options given below:

(1) (A and (D) only
(2) (A) and (B) only
(3)  (A). (B) and (C) only

(4) (B) only
Options :
53622813957. 1
53622813958. 2
53622813959. 3
53622813960. 4

Question Number : 115 Question Id : 5362283582 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s TE EEI AT 7 AN THem 9990 E 2

(B) HFTI
{G} EEANEES

(D) T FEHE

= f2u o faweal 9 9 =9 3 g

(1)  =aa (A) 57 (D)
(2)  =HEd (A) 30 (B)
(3) Fa (A), (B) FH (C)

4) === (B)
Options :
53622813957. 1
53622813958.2
53622813959. 3
53622813960. 4

Question Number : 116 Question Id : 5362283583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Match List T with List IT

(A)
(B)
(C)
(D)

Last I

Able-bodied poor

Impotent poor

Dependent children

Poor children

List II
() Work Houses or Correctional Houses
(ID Alms Houses
(ITII) Persons willing to take care of them

(IV) Parents or other relations homes or

poor homes

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

@A) —@.
(&) — (D),

(A)—(IV). (B) — (III),

(A) — (III).

Options :

53622813961. 1
53622813962. 2
53622813963. 3
53622813964. 4

(B) — (II),
(B) — (D.

(B) — (IV).

©
(©)
(C)
(C)

(I1D),
(I1D).
(I0),
(1D,

D) = (IV)
(D) — aOV)
(D) — (D
D) - @

Question Number : 116 Question Id : 5362283583 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I =1 =t 11 % =19 gafed 7

T 1 = 11
(A) mmym e (I) =™ 7Tz 7940 97 Ta
(B) 1#H fadq I faarme
(C) ¥ === (IL) 3T 1 TEH =TT d=m 4t
(D) TR === (IV) wia-foar @19 59 e % o Y
e TR
frefafaa T 4 7 w8 377 94

(1) @A) —-@O. (B) - d). (©) - dm. @D — (IV)
(2) A)—dD. @B — @O. (C) — dI). (D) — (IV)
(3) (A)—(1V), (B) — dID, (C) — D). (D) — (D)

(4) (A)—ID. B) — IV). (C) — D, D) — (D
Options :
53622813961. 1
53622813962. 2
53622813963. 3
53622813964. 4

Question Number : 117 Question Id : 5362283584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
{(A) Femimst Social Work () Peter Marsh
(B) Task-centred Social Work Practice (II) Neil Bateman
(C) Welfare Rights Pratice (IIT) Lydia Rupport
(D) Crises Intervention Practice (IV) Leena Dominelli

Choose the correct answer from the options given below:

(1) A-@O. G - Jadn. (€ - dI), D) — av)
(2) A)—-1v). B - @O. (€ — dn, (D) — (1)
(3) A)—(1n. (B - dD. (©) - adv). @O — dD)

4 @A-adh. B -adn, (©) - av. O - @

Options :

53622813965. 1
53622813966. 2
53622813967. 3
53622813968. 4

Question Number : 117 Question Id : 5362283584 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt 1 =1 gt 11 = =9 geferd 4

T I Tt 11
(A) THEE FEE T () e A
(B) FHE—FHizd TS FH UG D) = w2
(C) e ATFR T5H (IIT) =itz =02
(D) Hhe =AHT TG (IV) & St

A=ty fareal 3 = T8 3 =91

(1) A —-@d B - an, (© — dan. @ — adAv)
2 @Q@-a). B - @O. (C) - dn. (D) — (I
3 @Q-0D. @ - dD, © - daV. M) — @

4 @A-dn. B -adn. (© - avy. @O — @D
Options :
53622813965. 1
53622813966. 2
53622813967. 3
53622813968. 4

Question Number : 118 Question Id : 5362283585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with Last IT

LastI List II

{A) The number considered in (I) Ratio
comparative relation to a whole

(B) A comparision of two or more numbers (II) Propotions
that indicate their sizes in relation to
each other

(C) Vary or extend between specified (III) Percentage
limits

(D) Parts per hundred (IV) Range

Choose the correct answer from the options given below:

(1) (Ay—IV). (By — (III). (C) — I). (D) — (I)
(2) (A) — (D. (B) — (). (€) — (dID. (D) — (IV)
(3) (Ay—(II). (B) — (D. (C) — (IV). (D) — (III)

(4) (A)—(III), (B) — ). () — dV). (D) — (D

Options :

53622813969. 1
53622813970. 2
53622813971.3
53622813972. 4

Question Number : 118 Question Id : 5362283585 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



== I =t g=1 11 F 19 Feteq =+

Tl I GEipil
(A) Tl =FE g 4 faanie den Iy ==

(B) TUH-TH & HNE I FEE F A #A (1D HAEIE

(C) ofEmd #F = (IIT) TriEea
(D) wE Gt 9m (IV) =7

Sefetian Frpedi @ © I A

(1) (A)—(IV). (B) — (IID. (C) — (II). (D) — (D

(2) (A) — (D). (B) — (II). (C) — (III), (D) — (IV)
(3) (Ay—(II), «(B) — (). (C)y — (IV). (D) — (IIDI)
(4) (A)—(III). (B) — (II). (C) — (IV). (D) — (I}

Options :

53622813969. 1
53622813970. 2
53622813971.3
53622813972. 4

Question Number : 119 Question Id : 5362283586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

(4)

(B)

(C)

(D)

Last T

Self-awareness

Self-esteem

Self-respect

Self-confidence

List IT
(). Evaluation of self based on reflection

of social comparison

(II) Degree of conscious about thinking.
feeling and actions

(ITI) A s=elf-behief to evaluate behaviours

and actions categorised by moral and
ethical standards

(IV) Internally consistent feelings about
self-belief

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

A-@. B — 1.
(A) —(IID. (B) — V).
(A)—(IV). (B) — (IID),
A -dDn. ® — .

Options :

53622813973. 1
53622813974.2
53622813975. 3
53622813976. 4

(C) — (IID),
(€) — (D,
(C) — ),
(C) — (IID),

(D) — (IV)
D) - @
(D) — (@
(D) — (IV)

Question Number : 119 Question Id : 5362283586 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T= 11 g= 11 % =9 gaied =

T I T 11

(A) ST SFEEAT (I) @HfaF e & TdEs 7@ A =

(B) =Tt (II) =@/, 9= A1 & F 999 9 g=5q7ar $
=il

(C) =Ten T (III) 4% A7 A9WYd 9FFH gH 90 =g
SR A S F g B S

(D) =177 favam (IV) ¥=9 = gFms & d&9 ° ai® =9 °
A 9T

fAteEa el 9 9 T8 39 54

(1) A)—@. @B - an. (<) — dI). @O — IV)
(2) (A —IID. B) — dV). (C) — d), @O) — @D
(3) (A —(dV). (B) — ). (C) — I, (D) — D)
(4) A)—d). @ - @. (©) — d)., D) — dv)

Options :

53622813973. 1
53622813974.2
53622813975. 3
53622813976. 4

Question Number : 120 Question Id : 5362283587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List 11

Liat I List IT
(A) Field Theory (I} George Homans
(B) Social Exchange Theory (II) Kurt Lewin
(C) Psychoszocial Development Theory (III) Erik Erikson
(D) Conflict Theory (IV) Lewis Cosey

Choose the correct answer from the options given below:

1) A)-an. ® - @O. (€ — d. (D) — aV)
@ @-@O. B - d). (C) — d). (D) — V)
3 (A -, ® - d). (€ — d. D) — av
4 (A -av. B - dI. ) - d. @D — @

Options :

53622813977. 1
53622813978. 2
53622813979.3
53622813980. 4

Question Number : 120 Question Id : 5362283587 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7=t It gt 11 % =19 gefe 6

T 1 T 1T
(&) ez = (I =T =HE
(B) =mHEIEE e e () =2 =A
(C) waTHmEIF g (III) =it Tiae
(D) F=Fieagz A (IV) =g FE

Feferfiga fareat o 9 w8 =9 =4

(1) (A)-d). (B) - @. (©) — dI, @) — (IV)
(2) A)->@. B - d), (© — diD), (D) — dv)
(3) @A) -dn. ) - dy. © - @. @O — IV)

4 (A-AV). (B) - d), (€ —dh. @D - @

Options :

53622813977. 1
53622813978. 2
53622813979. 3
53622813980. 4

Question Number : 121 Question Id : 5362283588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

ListI List IT
(A) Transference () Mary Richmond
(B) Social Investigation (I) Jessi Taft
(C) Problem Solving Model (III} William Reid
(D) Task-Centred Model (IV) Pearlman

Choose the correct answer from the options given below:

(1) A —-@M. B - adn. (© - dIm, @O - dv
(2) (A-—-1. @d@ —-@M (© - Jadav). (O — {Jm
(3) (A)—(II), (B) — (ID), (C) — (D). (D) — (IV)

4 (A-OdV). B — d. ©€) - dn. @O — @
Options :
53622813981. 1
53622813982. 2
53622813983. 3
53622813984. 4

Question Number : 121 Question Id : 5362283588 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w=i I =i =i 11 % =19 gafe e

g1 = 11
(A) FAERMET (D = f=es
(B) =mTS = (I = 2%
(C) Ho&= THTIH TiaaH (III) T i1
(D) = Figa TiaHH (IV) =i

feferfaa faea § & =9 27 =94 ¢

(1) (A —@. (B) — d), (C) - (). (D) — (IV)
(2) (&) —-dadn. B — @O. (©) — av). (D) — (1)
(3) (&) —{aD. B) — dn, (© - @O, (D) - V)

(4) (A)— (V). (B) — dD), (C) —dD). (D) — (@D
Options :
53622813981. 1
53622813982. 2
53622813983. 3
53622813984. 4

Question Number : 122 Question Id : 5362283589 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech List I with Last IT

List I
(A) Social Service

(B) Social Work
(C) Social Security

(D) Social Reform

List IT

(I!  Uprooting traditional institution and
seelng new pattern of hife

(I) Protecting against contingensis

(III) Helping for problem solving on the
basis of principles of helping to help
themselves

(IV) Helping the helpless

Choose the correct answer from the options given below:

(1) Ay —({D. B —
(2) A -av). @) —
(3) (A)—dD). (B) -
4 (A -dD). @B -
Options :

53622813985. 1

53622813986. 2

53622813987.3
53622813988. 4

(II),
(11D,
(I1D),
(IT).

(C)
(C)
(C)
(©)

(I11).
(ID),
(IV).
(D,

(D) — (IV)
(D) — (D
D) - @D
(D) — IV)

Question Number : 122 Question Id : 5362283589 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I I 11 % o9 gEfed

= 1

(A)  TETS HaT

(B) @HTH ®HE

(C) HHTs TIE

(D) @A gEr
(1) (A) — (D). (B) — D).
(2) (A) —(IV), (B) — (ID),
(3) (&) —(1I), (B) — (III),
4) (A -dD. B — d,

Options :

53622813985. 1
53622813986. 2
53622813987. 3
53622813988. 4

(C) — (III).
(€©) — (b,
©) — av.
© - @,

o=l 11
() oruls sl # 3geH AR =T &

(II) === e o 9274

(IID) =9 1 T=Ea = % Hg| + &g 7
THEAT GHTYE H HEEAT HT

(IV) =15/ il TEEaT 0

(D) — aV)
D) - @
(D) — @
D) = (IV)

Question Number : 123 Question Id : 5362283590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

List I List IT
(A) Focus on several levels of intervention (I) The Eco-systems perspective

(B) Focus on the person — in environment (II) The Generalist perspective
context of a practice situation

(C) Focus on the dynamic interplay of (III) The Ethnic — sensitive perspective
biological and social systems

(D) Focus on the problems and effeets of (IV) The General systems perspective
discrimination
Choose the correct answer from the options given below:

1 @A@-a. @® - @O. (© - av. (O - I
(2) @A-dh. B) - ad). (©) — av). D) - @
3 @A—-O B - d). (©) — a. D)y - av)

(4) (A)—(IV). (B) — ), (C) — 1), (D) — @D
Options :
53622813989. 1
53622813990. 2
53622813991. 3
53622813992. 4

Question Number : 123 Question Id : 5362283590 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=1 1 1 =t 11 = o719 Jefed =

=1 7= 11
(A) FEAHET F 3T A TR () rffeafafm T g
(B) wrerd feufq = vl @24 8§ =5fed w (D) FEeEs gy
(C) Ffaw 3w =urs =wmEwsl i MehE (D) Fea-Feer g
A5 W wEE

(D) H=9TE =i FEEHT AN UHE 9 R (TV) =THA TOT] 9
M 1:|ié:|'|ig;—| 51 '355'1-" T-T I{ '-'TFrT 3T ﬂff :

L @-dad. @ -d. (©) - av). (D) - (I
(2 @-dh. @B - dp. (© - av. @O - @
3 @W-@O @G -d. (© - Jdh. D) - adv
4 (A-IV)., B - d). (¢ - an. @D — @

Options :

53622813989. 1
53622813990. 2
53622813991. 3
53622813992. 4

Question Number : 124 Question Id : 5362283591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

ListI List IT
(A) Soecial Distance Scale (I) Sutherland
(B) White Collar Crime (II) G.S. Bogardes
(C) Dominant Caste (IIT) Robert Redfield
(D) Lattle Community (IV) M.N. Srinivas

Choose the correct answer from the options given below:

(1) (A —1). @B — @O. (©) — adv). (D) — (1)
(2) (A)—dV). (B) — d. (€) — dh. (@D — @D
(3) @ -—-n. B)-3an. © - @O @O - Iv)

(4) (A —@. (B — ad), (€) — 1. (D) — (IV)
Options :
53622813993. 1
53622813994. 2
53622813995. 3
53622813996. 4

Question Number : 124 Question Id : 5362283591 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I %1 gt 11 = =19 gefe =

o= I == 11
(&) T () TEreiTs
(B) Tz 9w 3H (ID =ft.mw. armEa
(C) vyl = (IIT) 7= T=Fies
(D) =g FHHA (IV) Ta.TH. HiHam

FefefEa fasea 4 5 T8 270 94 ¢

1 @-a. ® -O. (© -av. O - dm
2  @W-av). B — dmn. (€ - dan. @O - @
(3 A-dD). B)-dadh. (© - @. @D - av

(4) (A) —(D. B) - d), (© - 1D, @) - Iv)
Options :
53622813993. 1
53622813994. 2
53622813995.3
53622813996. 4

Question Number : 125 Question Id : 5362283592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mateh List T wath Last IT

ListI List IT
(A) Mobilising grass-roots organisations (I}  Social reform
(B) Changing basic values in society (II) Social advocacy
(C) Mass solutions to mass problems (ITII) Social action
(D) Development of whole society (IV) BSarvodayva

Choose the correct answer from the options given below:

(1) A-—-@OM, @B - adn. (C) — {III), (D) — (IV)
2 @-a. @ - @d. (© - dD. D) - dv)
(3) (A)—D. B) - dAV). (C) — 1. @O - @D

(4) (A)—-(adV). B) — dD, (C) — dn. (D) — (D

Options :

53622813997. 1
53622813998. 2
53622813999. 3
53622814000. 4

Question Number : 125 Question Id : 5362283592 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1 i gt 11 = =1y gHfA

T 1 T 11
(A) T T F TS MEEs F (D) == gan
(B) TS H TURHA §eA1 § T w (I) =TS =
(C) THA-THENAT F FH-THTEH (IIT) =aT=
(D) =HE 9973 F [T (IV) =a=
F=ferigs e 4 | T8 3 94

(1) A —-@O. B - d). (© - dD, @O — (IV)
(2) (A)—I). B - @O (C) - Im. (D) — dv)
(3) (A —D. B) — dAV). (C) — dD). (D) — @D
(4) (&) —(@v). (B) — D, (€) — dn. (@D — @

Options :

53622813997. 1
53622813998. 2
53622813999. 3
53622814000. 4

Question Number : 126 Question Id : 5362283593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange 1n order the emergence of following concepts in social work

(A) Radiecal social work
(B) Soelal Diagnosis
(C) Integrated Approach

(D) Ecological Approach

Choose the correct answer from the options given below:

(1) (B). (A). (D) and (C)
(2) (B). (D). (A) and (C)
(3) (C). (B). (D) and (A)

(4) (A). (B), (C) and (D)

Options :

53622814001. 1
53622814002. 2
53622814003. 3
53622814004. 4

Question Number : 126 Question Id : 5362283593 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TS FE T ARG SR F I E 329 & HAEEn o

(A) iewa ooma F9
(B) w2
(C)  wHhrFa 9rH

(D) wTRfEERT 39

ettt faeat & @ =2 39 =4
(1) (B).(A). (D) 37 (C)
(2)  (B). (D). (A) T (C)
(3)  (O). (B). D) #T (A)

(4) (A). (B). (C) =11 (D)
Options :
53622814001. 1
53622814002. 2
53622814003. 3
53622814004. 4

Question Number : 127 Question Id : 5362283594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange 1n order the stages of emergence of social problem given by Malcolm Spector and
Johnkilsure

{A) Agitation

(B) Legitimation and Capitation

(C) Bureaucratization and Reaction

(D) Reemergence of the movement

Choose the correct answer from the options given below:

(1) (A). (B). (C), (D)
(2)  (B).(0). D). A)
(3) (D). (C), (B). (&)

(4)  (C). (B). (D). (A)
Options :
53622814005. 1
53622814006. 2
53622814007. 3
53622814008. 4

Question Number : 127 Question Id : 5362283594 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Oe=hi TI92 31 FER-ET & SI0% AT S F 3UE F Heteiad S F REEEn o

(A)  TEEH
(B) Taiommmas =i a0 w@adw
(C)  =riamei—=htoy 31T gfdfsean

(D)  3T=eH # e

fefetiga faeal 9§ W81 370 =4 ¢

(1) (A). (B). (C). (D)
(2) (B). (C). (D). (&)
(3) (D). (C). (B). (&)

(4) (C). (B), (D). (A)
Options :
53622814005. 1
53622814006. 2
53622814007. 3
53622814008. 4

Question Number : 128 Question Id : 5362283595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange following Acts in correct chronological order

(A) The Employees Compensation Act

(B) The Employees State Insurance Act

(C) The Employees Provident Fund and Miscellaneous Act
(D) The Maternity Benefit Act

Choose the correct answer from the options given below:
(1) (A). (B). (D). (C)
(2) (B). (C). (D). (&)
3 (D). 3. (C). A

(4 (A (B). (O). D)

Options :

53622814009. 1
53622814010. 2
53622814011. 3
53622814012. 4

Question Number : 128 Question Id : 5362283595 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(A)  FEEE AiaE AAtaEe
(B)  FH=l =g &mr sAfutEm
(C)  FH=ml gia=ta 3 whe sy
(D) v Flaar staim
feferiigs fasedl @ & 78 377 <4
(1) (A, ®). D). (C)
(2) (B). (C). (D). (A)
(3) D). (B).(C). (A)

(4) (A (B). (C), (D)

Options :
53622814009. 1



53622814010. 2
53622814011. 3
53622814012. 4

Question Number : 129 Question Id : 5362283596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange following Acts in correct chronological order:
(A) The Plantation of Labour Act

(B) The Mines Act

(C) The Payment of Bonus Act

(D) The Payment of Gratuity Act

Choose the correct answer from the options given below:
(1) (B). (C). (D). (A)
(2)  (A). 1), (). D)
(3) (A). (B). (D). (C)

(4) (C), (4), (B). (D)

Options :

53622814013. 1
53622814014. 2
53622814015. 3
53622814016. 4

Question Number : 129 Question Id : 5362283596 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  FFTH AEF ATIEEE
(B) N #AHHTH
(C) =% =29 Aa=y

{D} 3 ] =t 1 Jg_i'q -ﬂ-li-?:-:li:qu

feferfgs fasheat @ 9 w8 377 94
(1) (B). (C). (D). (A)
(2) (A). (B). (C). (D)
(3)  A).(B). D). (©)

(4) (C). (A4). (B). (D)

Options :

53622814013. 1
53622814014. 2
53622814015. 3
53622814016. 4

Question Number : 130 Question Id : 5362283597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange following stages given by Freud 1n correct order:

(A) Oral
(B) Phallic
(C) Anal

(D) Latency

(E) Gernital

Choose the correct answer from the options given below:
(1) (A (B). (C). D). (E)
(2)  (B). (0). (D). (E). (A)
(3) (&) (C). (B). (D). (E)

(4) (C). (B). (D). (E). (A4)

Options :

53622814017. 1
53622814018. 2
53622814019. 3
53622814020. 4

Question Number : 130 Question Id : 5362283597 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  difas
(B) T
(C) TEE

(D)  =FHTHrA

(E)  =+=miE

Fretferfian fopedi § & 7 370 -
(1) (A). (B). (C). (D). (E)
@  ®.(C).D).E. A
3 (@ ©.®.D.®

(4) (C). (B). (D). (E). (A)

Options :

53622814017. 1
53622814018. 2
53622814019. 3
53622814020. 4

Question Number : 131 Question Id : 5362283598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following systems in order:

(A) Change Agent System
(B) Client System
(C) Target System

(D) Action System

Choose the correct answer from the options given below:
(1) (B). (C). (D). (A)
(2) (A, (0). (B). D)
(3) (A). (B). (C). (D)

(4) (D). (A). (B). (C)
Options :
53622814021. 1
53622814022. 2
53622814023. 3
53622814024. 4

Question Number : 131 Question Id : 5362283598 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Trfertiga wonferat =1 sfaa®e O =y Hirm|
(A) TS AT T
(B) T womed

(C) =% Tt

- I

(D) TERIT Tl

F=fetias faeal 9§ w21 350 =
(1) (B). (C). (D). (A)
(2) (A). (C). (B). (D)
(3) (A (B). (C). (D)

(4) (D). (A), (B). (C)

Options :

53622814021. 1
53622814022. 2
53622814023. 3
53622814024. 4

Question Number : 132 Question Id : 5362283599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following days in chronological order:

(A) Youth Day
(B) Women's Day
(C) Teacherz’ Day

(D)  AIDS Day

Choose the correct answer from the options given below:

(1) (B). (A). (C), (D)
(2) (A). (B). (C). (D)
(3) (D). (B). (C). (&)

(4) (C). (B). (A). (D)

Options :

53622814025. 1
53622814026. 2
53622814027. 3
53622814028. 4

Question Number : 132 Question Id : 5362283599 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  TFF EEH
(B) wfzen feam

(D) TUsd fEEm

+= 2w v faweai 4 % g8 37 9T

(1) (B). (A). (C). (D)
(2) (A (B). (C). (D)
(3) (D). (B). (O (&)

(4) (C). (B). (A). (D)

Options :

53622814025. 1
53622814026. 2
53622814027.3
53622814028. 4

Question Number : 133 Question Id : 5362283600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange stages of group development in order as given by Garland. Jones and Kolodny

(A) Pre-affiliation

(B) Differentiation

(C) Intimacy

(D) Power and Control

(E) Separation

Choose the correct answer from the options given below:
(1) (A, (B (C). D). (E)
(2) (A). (D). (C). (B). (E)
(3)  A). (). B). D). (E

(4) (A (B). D). (C). (E)

Options :

53622814029. 1
53622814030. 2
53622814031. 3
53622814032. 4

Question Number : 133 Question Id : 5362283600 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TeAs, S 3R FIATSE & A i G = Tl = gt i

(A) T FEgE

(B) E e
(C) BiEL=n

(D)  wfea =i e

(E) TIFFR

(1) (A). (B). (C). (D). (E)
(2) (A). (D). (C). (B). (E)
(3) (A). (C), (B). (D). (E)

{4) (A). (B), (D). (C). (E)
Options :
53622814029. 1
53622814030. 2
53622814031. 3
53622814032. 4

Question Number : 134 Question Id : 5362283601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange following steps of community organisation process in order:

(A) Identify needs
(B) Prioritising needs
(C) Developing programmes

(D) Exploring resources

Choose the correct answer from the options given below:

(1) (A). (B), (D). (C)
(2)  (A). (D). (C). (B)
(3) (A (C). (B). (D)

(4) (A). (B). (C). (D)

Options :

53622814033. 1
53622814034. 2
53622814035.3
53622814036. 4

Question Number : 134 Question Id : 5362283601 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TR T3 T & Hefaiad =90 5 gearead i

(A)  FAETTHRAAT F TEEE
(B)  ATGTTHATAT =l WHTHEAT g
(C)  rmA FEm

(D)  =HEEAT Fi =@

Hr= fau o et 9 9 T =R g

(1) (A). (B). (D). (C)
2 (A). D). (C). (B)
(3) (A (C). B). (D)

(4) (A), (B). (C). (D)

Options :

53622814033. 1
53622814034. 2
53622814035. 3
53622814036. 4

Question Number : 135 Question Id : 5362283602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following schemes in order:

(A) P.M Gram Sadak Yojna
(B) P.M Adarsh Gram Yojna
(C) P.M Jeevan Jyothi Yojna

(D) P.M Vaya Vandana Yojna

Choose the correct answer from the options given below:

(1) (A). (B). (D). (C)
(2) (B). (C). (D). (A)
(3) (A). (B), (C). (D)

(4 (0. (B). D). (&)
Options :
53622814037. 1
53622814038. 2
53622814039. 3
53622814040. 4

Question Number : 135 Question Id : 5362283602 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



feAfefigs ara Fi FEaEan =ategy i)

(A)  THH T TH HEE AT

(B) g Tl 3TES W I

(C) W& =l e Saitd A

(D) W W FF g AT

Hr= fau T fahedl 9 | w1 S g

(1) (A). (B). (D), (C)
(2)  (B).(C). D). &)
(3) (A). (B). (C). (D)

(4) (C). (B). (D). (A)

Options :

53622814037. 1
53622814038. 2
53622814039. 3
53622814040. 4

Question Number : 136 Question Id : 5362283603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 12 labelled as Assertion (A) and the other 1s labelled as

Reaszon (R)

Assertion (A) : Purposefully established relationships are key to the solution of problems.

Reason (R) : Establishment of relationship i1s the essential part of rapport building

leading to the solution of the problems.
In the hight of the above statements. choose the correct answer from the options given below.

(1) Both (A) and (R) are true and (R} 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 12 false but (R) 1= true

Options :

53622814041. 1
53622814042. 2
53622814043. 3
53622814044. 4

Question Number : 136 Question Id : 5362283603 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 o fom T | U A Al (A) 3 28 F S (R) T T A

AFEIT (A) : FTAGEE T HEY T F TEaE & o T

% (R) . HEH TAYA W OO SAH H SETEE 97 £ T9E Bl e Gl i HIE
= 2

IS HAT % A ° A 20 e e 8 9 md e gf -

D () R ®) = FE R R) (A) FEE =
@ @ @) A 2 @) @) e
(3)  (A) = 2 5 (R) @ 2|

(4) (A) 79 2 T R) =71 2|

Options :

53622814041. 1
53622814042. 2
53622814043.3
53622814044. 4

Question Number : 137 Question Id : 5362283604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements: One 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A) : Conflicts are natural in inter-personal relationships.

Reason (R) : Individual differences always exist due to external influences.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

53622814045. 1
53622814046. 2
53622814047.3
53622814048. 4

Question Number : 137 Question Id : 5362283604 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AfFAA (A) ;o dAiGaE HEEl § geg S A = 2|

‘_'F'%(R] : W’?&Tﬁﬁmgﬂah@mﬁ-mﬁ]

UL AT % A § A 20 e frmen 8 @ od e g -

D) (&) R®)FF I E A R) (&) F T = 2
@ @ s ®) I 2 ®) @) F wA e
@ @A @ 2

(9 (A T=E 7 B ®) 79 2

Options :

53622814045. 1
53622814046. 2
53622814047. 3
53622814048. 4

Question Number : 138 Question Id : 5362283605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A) : Education leads to participation.

Reason (R) : Indivuduals face difficulties 1n participation 1n any activity due to

Unawareness.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options :
53622814049. 1
53622814050. 2
53622814051. 3
53622814052. 4

Question Number : 138 Question Id : 5362283605 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 27 T T30 0 | vF F ANTEA (A) 37 T F 95 (R) T T

sfReE (A) ¢ FIET % weREE TEeE A B

B

% (R) . IATaTAAT % wEw T ot e O gemiE § SEAEE @ greEn w5 929 2

L N . Y : - [ B T [a) -
TR FUA F AT A= =20 T S 3 7 38 I 96w -

(1) (A) 3R ®) I FF 7 30 (R) (A) F @7 w2
(2) (A #R (R) FF1 = 2 B (R) (A) i w7 = 15 2
(3 (AT = fFg ®) T4 2

4) (A7 R g R) TE R
Options :
53622814049. 1
53622814050. 2
53622814051. 3
53622814052. 4

Question Number : 139 Question Id : 5362283606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Assertion (A) : Breaking of norms may invite legal punishment.

Reason (R) : Norms act as control mechanism for regulating behaviour of an individual.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(N (A) 18 true but (R) 1s false

(4) (A) 1= false but (R) 1s true
Options :
53622814053. 1
53622814054. 2
53622814055. 3
53622814056. 4

Question Number : 139 Question Id : 5362283606 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hr 21 FuA gm0 R | vE W AEeE (A) AR 2 T (R) A 2

wfipo (A) :  SEHET S SeeEe e e # afaw 2vs 2 s wwar 2
% (R) . UfaAE TR =59 F =9EEr =1 AAamE w1 W e T

ITAFE FUAT s ° A e T fawedt § 1 wE I g -

(1) (A 317 (R) I 741 % 9117 (R) (A) Fi T2 =me 2|
(2) (A 3R (R) T =7 = g (R) (A) Fit =78 =men 75 2|
(3) (A =F ? g (R) 7od 2

4 (A TEm T ®) T 2
Options :
53622814053. 1
53622814054. 2
53622814055. 3
53622814056. 4

Question Number : 140 Question Id : 5362283607 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R)

Asszertion (4) : Mental retardation 1= related to low 1.Q.

Reason (R) : Mentally retarded persons lack concentration.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 138 NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 18 true

Options :

53622814057. 1
53622814058. 2
53622814059. 3
53622814060. 4

Question Number : 140 Question Id : 5362283607 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 o 30 T 2| vF N AEEA (A) 37 39 F 9% (R) T T A

A (A) ;T e e e e (o W) @ g 3

et

SIS FUA % A H A 2w e § 8 wd e g -

(1)  (A) 37 (R) 31 &80 & 3t (R) (A) 1 @8 =amen 2]
(2) (A 3 (R) T = 2 g (R) (A) it 771 =men 775 2
(3) (A) =7t 7 g (R) 714 2|

4) (A 7eE # g (R) 77 2

Options :

53622814057. 1
53622814058. 2
53622814059. 3
53622814060. 4

Sub-Section Number : 2
Sub-Section Id : 536228141
Question Shuffling Allowed : Yes

Question Id : 5362283608 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension

Answer question nos. 91-95 from the paragraph given below :

Emotional development 1s the maturation of the expression of personal emotions and the
recognition of emotions of others. Infants express only contentment or distress, but by a few
weeks show basic emotions and by eight months display a wide range. During first year.
infants can distinguish and react to the emotional states of others. In some circumstances
they may check the emotion of primary care taker before responding (zocial referencing).
From about eighteen months, they begin to talk about emotions first their own and then
those of others. From this age they can also demonstrate active empathy towards others.
although it 1s based on what they themselves would find comforting.

Sub questions

Question Number : 141 Question Id : 5362283609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Infants display wide range of basic emotions by:

(1) One week (2) Two weeks
(3) Eight weeks (4) Three weeks
Options :

53622814061. 1
53622814062. 2
53622814063. 3
53622814064. 4

Question Number : 142 Question Id : 5362283610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During which time infants can distinguish and react to emotional states of others.

(1) First year (2) Second vear
(3) Third year (4) Fourth yvear
Options :

53622814065. 1
53622814066. 2
53622814067 3
53622814068. 4

Question Number : 143 Question Id : 5362283611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Checking of the emotion of primary care taker before

(1) Suspending (2) Responding
(3) Reacting (4) Decision making
Options :

53622814069. 1
53622814070. 2
53622814071.3
53622814072. 4

Question Number : 144 Question Id : 5362283612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
Talking about emotions begins from
(1) Two months (2) Four months

(3) Eighteen months (4) Nineteen months

Options :



53622814073. 1
53622814074. 2
53622814075.3
53622814076. 4

Question Number : 145 Question Id : 5362283613 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Infants express only:

(1) Contentment or distress (2) Surprise
(3) Choice of food (4) Frmendship

Options :

53622814077. 1
53622814078. 2
53622814079. 3
53622814080. 4

Question Id : 5362283608 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Frafefias ai=as #1 SraarigEs afen 377 799 5 01 B 95 A% % I A
FEfFaT WA i AT SR g e i TG i TR SEAes S 2| e A

HATY AU YT F AGA FAd § U TS B HAlE H A giEel A 92 w9 7 i o8 5eE o
TS 1 SAE 4 TSR A 7| WUE 99 g, 9 o i aeeens Tl 1 97 o med B e
T 7 (TS BEdE) | SI9EE 0 H, F TEA T AT SR aoavErd g i SEEie & 5ed § a6
FAT IE FE o 7| TH 91 H I T F U A6 anEg o mekia 9 o9 # T2 98 35 W e

Sub questions

Question Number : 141 Question Id : 5362283609 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fmferfaa o 9 g g 9 o 9fFEE aEmst # =res ol weiEE w5 2 7
(1) = TR (2) = =EE

(3) W3 TR (4) 19 T
Options :
53622814061. 1
53622814062. 2
53622814063. 3



53622814064. 4

Question Number : 142 Question Id : 5362283610 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o 7mg % 2 fom -;:HJ:i =1 U oot § 92 # o9 B 31 39 T 9iaET © O B

(1)  uug =d (@) T
(3) FAE (4) =ad ="
Options :

53622814065. 1
53622814066. 2
53622814067. 3
53622814068. 4

Question Number : 143 Question Id : 5362283611 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frafetaa 7 % e = 73 for mafes afemms i s 6 5= 7 2
(1)  fesm (2) T

(3)  WamwA (4) Tf =
Options :

53622814069. 1
53622814070. 2
53622814071. 3
53622814072. 4

Question Number : 144 Question Id : 5362283612 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frfaias 3 9 fFe 9 © 9= % 96 0 A F A6 B A

1) = (2) =W AE
(3)  ¥INE UER (4) === AE
Options :

53622814073. 1
53622814074.2
53622814075.3
53622814076. 4

Question Number : 145 Question Id : 5362283613 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks :
forer, g =TT T B

(1)  Hdm 3 F2 (2) v
(3) & % Ui w= (3) faa
Options :

53622814077. 1
53622814078. 2
53622814079. 3
53622814080. 4

Sub-Section Number : 3
Sub-Section Id : 536228142
Question Shuffling Allowed : Yes

Question Id : 5362283614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Answer the question numbers 96-100 from the paragraph given below :

For service users, empowerment means challenging their disempowerment. having more
control over their lives, being able to influence others and hiving about change. There has
been an explosion of interest in the 1dea of empowerment 1n social case. This reflects broader
interest 1n a concept, which transcends conventional politics and ideclogy. addresses both
personal and political and seeks to unite the two. Empowerment has become a key concept
in social work and social case. It 1s now control in political, social, pohcy, educational,
cultural. sexual. personnal and managerial discourses. as well as entering popular usage. At
the same time, these are concerns among social case service users and professional that the
term has been reduced to Jargon through over use and lack of clarity.

Sub questions

Question Number : 146 Question Id : 5362283615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

As per paragraph which one of the following does not explain the meaning of empowerment
for service users?

(1) Challenging disempowerment (2) Control over lives
(3) Not influencing others (4) Bringing about change
Options :

53622814081. 1
53622814082. 2
53622814083. 3
53622814084. 4

Question Number : 147 Question Id : 5362283616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The paragraph explains the broader interest in concept of enforcement as:

(1) Transcends conventional policies

(2) Participating in conflicts

(3) Indulged in the interest of particular group

(4) Can be obtained only through legal recourse
Options :

53622814085. 1
53622814086. 2
53622814087. 3
53622814088. 4

Question Number : 148 Question Id : 5362283617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following discourse has not been mentioned in paragraph?

(1) Social discourse (2) Educational discourse
(3) Personal discourse (4) Professional discourse
Options :

53622814089. 1
53622814090. 2
53622814091. 3
53622814092. 4

Question Number : 149 Question Id : 5362283618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term empowerment has been reduced to Jargon mainly due to

(1) Challenging system (2) Reflecting broader interest
(3) Over use (4) Transcending conventional policies
Options :

53622814093. 1
53622814094. 2
53622814095. 3
53622814096. 4

Question Number : 150 Question Id : 5362283619 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What can be the title of this paragraph?

(1) Social case (2) Empowerment
(3) Social work (4) Service users
Options :

53622814097. 1
53622814098. 2
53622814099. 3
53622814100. 4

Question Id : 5362283614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362283615 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814081. 1
53622814082. 2
53622814083. 3
53622814084. 4

Question Number : 147 Question Id : 5362283616 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622814085. 1
53622814086. 2
53622814087. 3
53622814088. 4

Question Number : 148 Question Id : 5362283617 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
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Options :

53622814089. 1
53622814090. 2
53622814091. 3
53622814092. 4

Question Number : 149 Question Id : 5362283618 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814093. 1
53622814094. 2
53622814095. 3
53622814096. 4

Question Number : 150 Question Id : 5362283619 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814097. 1
53622814098. 2
53622814099. 3
53622814100. 4
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